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GlSlmrr~Qp;rr@iLimu~ ~JD8i©Li>utq..UJrrm Gs:wGM a;~a;rr~uurrmrfluDl(!!)~ Gu!i>!D61JLm CLD~Q>JDuS\m ruro~LjJD~65>Jli 
8i6l.JQTLDrra; .$119l~~ ~JDM aru€M@t.b. ~~mtSlm C8im6lSls;(.5.$@j 6lSl65>LUJl>lft~ Qp;rrui.Ja;rorri..i>. 
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®!61~~8; a;rrL...~ pi6l.Jp5lmrrru :t.rii.ia;m GlSlro~rrm Qs:Qirorrp;p;rr.$.$uu@t.b. 
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1. Fill in the blank 

1~ · =10) · 1 
(A) Ll 

(C) I· ~1 

3 

? ~ 01~ 

(B) 1~ cl 

·I 
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I low many quares arc there in the figure given below? 

(A) 

(B) 5 

(C) 6 

, oef 1 

(A) 4 

(B) 5 

(C) 6 

(D) 7 
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3. If orange is called butter, butter is called soap, soap is called ink, ink in called honey and 
honey is called orange, which of the following is used for washing of cloths? 

4. 

(A) orange (B) honey (C) butter )ff) ink 

~'l~Sf G6l.l~m~ 6T~6l..jLD, G6l.laiGr~~ aa:rn.Jy 6TQT6l..jLD, aa:rruy .@ri.18> 6T6m6l.jLD. @ri.JB> G!Z>m GTQ!QjtD, 

a~~ ~'l\§Bi 6TQT6l..jLO ~~!J?8;CEUULLIT6i> £~a;~L6l.llDJ;!)JGTr GT~~~ §!Q>QJ8;a; Utumu@t.0? 

(A) ~'l\§Bi (B) C{hGTI-

The next term of the sequence 2, 5, 10, 17, 28, .. ...... . 

(A) 40 f,.BJ 41 (C) 42 (D) 43 

2. 5, 10, 17. 28, ......... GT~!D Gp;rrLrTlro ~@~{h ~wuLJ 

(A) 40 (B) 41 (C) 42 (D) 43 

5. Find the sum of first 20 multiples of 15 

3150 (B) 3050 (C) 2750 (D) 2950 

15~ LOLri.J®CEGTTITQT QP{hru 20 GTQiiira;GTflro 861.@p;ro a;rr~a; 

(A) 3150 (B) 3050 (C) 2750 (D) 2950 

6. The sum of the interior angles of a Hexagon is 

(A) 360° (B) 240° · ~ 720° (D) 180° 

~® ~@ffil® ~wri.JGa;rr~~~Qr tLL.Ca;rr~ ~m6l..ja;rolm &i.@~ro turr~? 

(A) 360° (B) 240° (C) 720° (D) 180° 

7. In 2014, Arjun's father age was two times of Arjun's age. In 2002, the father's age was three 
times as old as Arjun's age. In 1999, product of their ages is 

(A>(' 297 (B) 192 (C) 324 (D) 412 

2014-t.O 6l.J@L~~ru. ~rr~"~m 61.JUJ~fh Gurrru ~rr~"6l!fl~ ~uurr~ro QJUJ§J .@® LDLri.Ja>rr®t.0. 2002-t.O 

GU(!!)L~~ru ~ITSl"allm ~uurr~Qr QJUJ§J ~frSl"~m 6l.Jtu6'6lp; CurrQ) ey:>Qr!);l! LDLrf.Ja>rr®Li:>· 1999-t.O 

6l.l(!9L~~ru .@®61.J@~LUJ 6l.Jtu~6irr Gu(!?B>a>Ji>uruQr a;rr~a>. 

(A) 297 (B) 192 

5 

(C) 324 (D) 412 
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9. 

10. 

F'md l he \ 'Ol ume of a solid cylinder whosc> radius is 11 cm and height ~W cm 
I 

(A) IS3 0 cm3 (B) 18180 cm3 (C) 18580 cm8 (D) 18G 0 cm3 ,, 
~® PJ~nn '1..(!!IQlQTuSl6in ~nil 14 G6.tD LD!i>J!lllb ~~ lL.UJIJW 30 Q6 iD {;f~Q) ~6il6l.J<!!)OOGrTuSlQi 

s;QJ .siroai6'1J8; e;rr~s; 

(A) 18380 Q6 u)1 (B) 18180 G6.t.01 
( D) 18G80 G6.L.51 

If a b - Hm then (a - l)b+i :::: 

(A) 1278 (B) 1728 (C) 1827 (D) ~781 

cl= J G9 '1'~Q> (a - l )b•l = 

(A) 1278 ,,..) B( 1728 (C) 1827 (D) 2781 

The IICF of 2(x2 y 2), 5(x3 -y3) is 

(A) (x y) (B) 2(x-y) (C) lO(x -y) (D) (x2 -y2) 

2(x?. - y2), 5(x3 
- y3

) -m tEuGue Qurr~B> B>rTIJ~ 

(A) (x y) (B) 2(x - y) (C) lO(x - y) (D) (x 2 -y2) 

11. A and B can do a work in 8 days, Band C in 12 days, C and A in 24 days. If A,B and C work 

together, then the number of days, they will complete the work is 

(A) 6 (B) 7 (C) 8 (D) 4 

A LDrD[f)JLb B 6Tmu6\.Jrrs;Q-r ~® GrumQ)ooUJ 8 p;rrL.e;aft~t.D. B LD!i>ff)Jt.D C '1'mu6\.Jrrs;Gir, 12 JbrrL.s;Grfl~t.D. 

C LD!Dff)Jt.D A 6Tmu6'1Jrra;Gir 24 Jbrrl..e;blfl~t.D ~6'..Ja6'1.lmQlrotu <y>~B>..tlmlDQTrr. A. B LD!DWJLb C 6Tmu6\.Jrrs;ro 

~aiaGl.looQ)mUJ aa:rr)i;~ Ga:LLi~rrQi, &irufr1nQ-r ~6i.JaruroQlooUJ <y>~B;s;~ a~mGUuu@Lh JbrrL.:._e;Q-r. 

(A) 6 (B) 7 (C) 8 (D) 4 

12. The Cube root (Sub Triplicate) ratio of 8 : 27 is 

(A) 27 : 8 (B) 24:81 (C) 2: 3 (D) None of these 

8 : 27-m (Y)UU~ @ru 6l5l..tlfbl.b 

(A) 27 : 8 (B) 24 : 81 (C) 2: 3 
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13. An electric train is moving at a speed of 68 km per hour. What is the distance covered by it 
in meters in 180 seconds 

(A) 4700 ) B(' 5100 (C) 5000 (D) 6000 

(A) 4700 (B) 5100 (C) 5000 (D) 6000 

14. The value of 
225 x 225 x 225 + 275 x 275 x 275 
225 x 225 - 225 x 275 + 275 x 275 lS 

CAY 500 (B) 600 (C) 650 (D) 50 

225 x 225 x 225 + 275 x 275 x 275 . ~ . 
225 X 225 - 225 X 275 + 275 X 275 - 6m lD Ul...j 

(A) 500 (B) 600 (C) 650 (D) 50 

15. A mixture contains alcohol and water in the ratio 4 : 3 if 7 litres of water is added to the 

mixture the ratio of alcohol and water becomes 3 : 4 then the quantity of alcohol in the 

mixt.ure is 

(A) 15 (B) 13 (C) 14 /ef 12 

qi,Gi.>a;~rrQ.i lD!iJ!PJLO ff;rr <'J;Q)fB~ ffi6\)Gm6l.Ju5Jru @ru!iJ!)516i!f 6lSJ$)~t.0 4 : 3. @8;a;Q.>"6l6l..lu5Jro 7 GlSlLLIT ~~~IT 

G6rr~~ t5llJ)@j GlSlffil~t.O 3 : 4 ror60llro, @<i;a;Q)br>6l.Ju5lro qi,rue;~rr~60T ~GTT6l..j 

(A) 15 (B) 13 (C) 14 (D) 12 

16. In an examination 80% of the total candidates passed in English and 70% in Mathematics, 

while 20% failed in both. If total no. of candidates failed is 450, find the total number of 

candidates. 

(A) 1800 ~ 1500 (C) 1000 (D) 1200 

~® G~rr61Slru 80% ~riu$1Q.>~%J@.lt.O. 70% 85~~~~@.lt.O G1lirr6~ Qu!iJ!PJG1TGTT6mrr. 20% qi,r6.J$161.lt.0 w!iJIDJt.O 

a;~~t.D @1J6Wl"lq-@Jt.O G~rrruGlSlll..j!iJJDrorr. Qwrr~~t.O 450 Gurr G~rr6i.>61Slll..j!iJ!D6l..lrra;G1r ror~ro. G~rr6l..l 6T(!:9~UJ 

(A) 1800 (B) 1500 

7 

(C) 1000 (D) 1200 
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17. The ''l\'Cll number 871!37851!}1s <livis1ble bv " / . 
(A) !> (g) 11 (C) 7 (D) 13 

" 

(A) 9 (B) ] 1 (C) 7 (D) I :3 

18. Evaluate: 

co 2 30"+ sin 2 30°- tan 2 p::• ,) 

(A) 1 
(B) 

1 )e( 0 (D) 
2 

LD~uLl a;rroo : 

cos2 30" 1 sin 2 30 - tan 2 45 

(A) 1 
(B) l 

2 4 
(C) 0 (D) 1 

19. The side of an equilateral triangle is 4 cm. Then its altitude is 

(A) 2 .J3 (B) 4.J3 (C) s../3 (D) 4 

(A) 2 .J3 (B) 4.J3 (C) s../3 (D) 4 

20. The angle of inclination with the x - axis of the straight line whose slope is .J3 is 

(A) 30° (B) 45° (C) 90° (D1 60° 

~(!!) a)DfrB;ae;m.'...tq.~ CFITuJGtj .J3 GT60lJru ~d;ae;rr@ X ~68iL~ ~Ji>u@~~LD ae;rr6mLD 

(A) 30° (B) 45° (C) 90° (D) 60° 

21. The outer and the inner radii of a hollow sphere are 12 cm and 10 cm. Find its volume. 

(A) 3050.Z. cm3 (B) 30491 cm3 (C) 3060l. cm 3 (D) 30591. cm 3 
3 3 3 3 

~® Q...ffimLJD!D Gs;rrm~~~ QQJffil w.tiJwi.D ~m ~rJT61a;Gir QflbU)JDa UJ 12 <dB=.LE. LD!i>WJi.D IO Ga:.LE. 61'60llru 

c!'>JB;Gs;rrw~~~ e;m ~ffibU)QJ8; e;rr~s;. 

(A) 3050f <dB=.t.0.3 (B) 3049-f Ga:.LE.3 (C) 3060} GB= LE.3 
(D) 3059f G6.LD.3 

GS414 8 



22. Ramani was born on March 2l8t, 2004. Ravi was born 7 days before Ramani. The Republic 

day of that year falls on Monday. Which day was Ravi born on? 

23. 

)K{ Sunday (B) Monday (C) Saturday (D) Tuesday 

IJ"LD~ GTQrU6lJrT 2004 ~LO ~6Wr@ wrrrr.9: lDIT~LO 21 ~LO ~~~ t5l!!JJii~rrrr. 1}"61Sl 6TQrUGllrT ~~JD@) 

7 ,[!;rrL..s;®B;® Q:Pm t.Sl!!JJii~rrrr. ~,!ii~ Gl.IQ!JL~~Qr ®~UJgar ~anb ~ri.Js;L..ctlwQ'lLDu5lru ~~no,[ii~rrro gG6lu51m 

i.5l!!JJii~ .!Drrm GT,!ii~ ctiwmwu5lru ~Q>LD.$l!!J~? 

(A) (§rru51!iJw8;$1wmLD (B) ~ri.J.sL..$1wmw 

(C) ~8;.$lWQ'ltD (D) Q6Qirurrti.JB;ctl1:9mw 

482 +2 x48 x 52+522 is 
,,,. 

(A) 42 )B) 1002 (C) 992 (D) 1000 

482 + 2 X 48 x 52 + 522 GTQrU~ 

(A) 4 2 (B) 1002 (C) 992 (D) 1000 

24. In a row of girls Meena is 8th from the left and Radha is 13th from the right. If they 

interchange their position Meena becomes 23rd from the left. Ho~ many girls are there in 

the row? 

25. 

(A) 35 (B) 36 (C) 40 (D) 41 

LDrr~6lSls;ro1m Q11flm6u5lru LDQTrr 6Tmu6l.lm@L~ 4!D~GS!®Jii~ 8ru~ @L~~~LO. grr~rr 6Tmuru6Tr ruQ)~ 

4!D~~QS'l®.ffi~ 13..:..Gl.J~ @L~~~LO LmmQTrr. @rurrs;mlm .@Lri.ls;mm LDrr!f>JDlQl'rrru LDQTrr .@L~ 

4!D~~GSl@fr>~ 23-ru~ @L~~Q) ~GTrIDITfr m~lru, ~QiQJiflm5u5)Q} 1?...Qr61T LDIT6WTQS'ls;Gilflm 6TGiar~.$ms; 

(A) 35 (B) 36 '(C) 40 (D) 41 

If v-; = 6 then ..Jx6 = 

(A) 618 (B) 6 (C) V6 (D) 66 

v-; =6 6T~ru . ..Jx6 = 

(A) 618 (B) 6 (C) V6 (D) 66 

9 GS414 
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2G. The main purpo e of u~mg a ~1odcm is 

(A) to hnk one computer with another 

(B) it provides internet sen ices 

(8)" to convert analog signnl into digital and vie• versa 

(D) it is a computer device 

Ctnm .. tb Q..uCUJrr8Juufh~ QPMllLI C.rnrrS;a;t.O GT~m? 

(A) 51<!!> c$~uGurrr6)Q)UJ tn!iJG!DIT(!!> e;~uGurrJJ5llJ..IL~ .@W€imUU~ 

(B) .@§! .@Pr>~UJ Ca:Q)6l.JQ)lU 6l1Wri.J®rufhrrru 

(C) {i}UyQls; .ffilQJQ)t6)QSl®fr>~ j)Q>.$6; JblooQ>B;@ji.0 j)Q>B;a. JblooQ>uSlQSl®~~ ~uyme; JblmQ>li;@ji.0 LDITlDlJllLh 

a;®QSl 

(D) @@ VI® s;~uGurr!D) srr11>mlh 

27. A step by step method for solving a problem is 

(A) A com;truct (B) A recursion 

• (C) An iteration (D) An algorithm 

.. 

VI® e;~tvu t5ll]66mm8;® u11tuuurLL.JrrQT @m!DuSlru ~ri'6l.I a;rr61Rrrutvli>® GuUJrr 

(A) JblrrLDrr~i.0 (B) ~(!?C0Lj'5>$ 

(C) tD61Rrr@i.O tSQiar@tb 6fl.!J,)IP>ru (D) QSl~s;rolQi s;6m"tb 

28. Which is the largest network in the world? 

(A) Local Area Network 

(C) Wide Area Network 

(B) Metropolitan Area Network 

(DJ Internet 

f2...Q)itl~ uSla;u Gurrltu a;~Qf\ ruQlQ) ~~? 

(A) c!9fc$U UIJUL.j QJQ)Q) 

(C) UIJ~pi UIJUL.j 6l.JQ)Q) 

(B) JDc'!ilJU UIJUL.j QJQ)Q) 

(D) @Q>~LULD 

29. Which of the following is not a search engine? 

(A) Mosaic (B) Excite (C) Lycos 

.$~8;Qs;rr@8;s;uuL...@6TrmooGl.Js;Qf!Q) ~~ Gfb@ QurrJJ51 j)rumQ>? 

(A) GLDrrQJ6.$ (B) ~8imGruL (C) mQ>.$Cs;rr6i\> 

GS414 10 
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30. Choose the correct match 

List I List II 

(P) Epinephrine 1. Uterine contractions 

(Q) Parathormone 2. Water resorption 

(R) Oxytocin 3. Ca2
• uptake 

(S) Leutinizing hormone 4. Glycogen breakdown 

5. Thyroid hormone synthesis 

6. Progesterone secretion 

(A) P-1 Q-2 R-5 ~ 

(B) P-5 Q-6 R-1 S-2 
(C) P-5 Q-2 R-3 S-4 

/DJ P-4 Q-3 R- 1 S-S 

a:itlUJrr8i Gurr®~~s; ' 
uL~UJru I uL~UJru n 

(P) 6Tt51Gp;.°.urflm 1. 8i(!5UQ>U BT(!?ri.i.$1 6lSJitlfliru 

(Q) u rr1Jrr ~~rrirCLDrrm 2. ~ir tD~@Lb L!Dl~BTfhW 

(R) ~S;Gn51C:Lrr6lm 3. Ca 2+ 6T@~~8; Qs;rrill~fhru 

(S) ~~mm6lr&i ~rrirCLDrrQr 4. .$1Q>mCs;rr83Q>61JT6 6lmfh~fhru 

5. mfhlJrTtU@ ~rrirCLDrrQr ~!i>u~ 

6. LjC:1Jmd83W1LC1Jrrm BTIJ~W 

(A) P-1 Q-2 R-5 8-S 

(B) P-5 Q-6 R-1 S-2 
(C) P-5 Q-2 R-3 S-4 

. (D) P-4 Q-3 R-1 S-6 

31. Pick out the wrong statement : 

(A) The accessary reproductive organ is prostate 

(B) Leydig cells are found in testis 

(C) The ovum develops inside the Graafian follicles 

JD( Androgen is secreted by ovary 

pJGUJDrrm sn!iJm!D a;L._~8; a;rrLLQjLD 

(A) t5lC:1JrrQl}C:u.: .... ~mQRrr .@muQu®B;a; ~giiuy 

(B) QQ>~a; Q5Q}s;m 61Slfr>fh8i~~ru Lmm~ 

(C) &lmm @LQ>L, .$l1Jrrt5lUJQ1 urrGS18;.$lru6lru ~Qm.$lJD~ 

(D) ·~Qi~CIJrr~m· ~rrirCLDrrQ1 ~QjrflUJrrru LJDu~ Qs:l!JUJuu@.$lJD~ I 11 GS414 
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32. Out of the following s tquences, which shows the correct 'order of flow of genetic informatiori 

(A) DNA Rephrati<'n 
Transcription RNA Translation proteins 

(B) DNA Replicati(ln 
Translation RNA 'Transcription proteins 

(C) RNA Replica.t· (1Il TranAlation 
l < ? 

DNA Transcription proteins 

(D) RNA R li t- Transcription DNA 
'l'rnnslation 

proteins ep ca 1Qn 

(B) 

(C) 

(D) 

33. Mitochondria are semi-autonomous organelles because they contain 

(A) mRNA and rRNA 

(C) RNA and ribosomes 

(A) mRNA LD!i>g11Li> rRNA 

(C) RNA to!i>g11tb m,,.CurrC6rrlba;"1r 

34. Which is wrongly matched? 

(A) Pellagra - Niacin deficiency 

(C) Scurvy- Vitamin C deficiency 

~G\J.(DrTOO Gurr®~~~m~~ Bi8iGT"@i.Slk\-.$s;Q.p.O 

(A) GuQ)rr.$f}rr - )b1UJrr6lQ'f uJbwrr.$®m!D 

(C) 6iu.sir61Sl - Q>Q.JLLL61m C UJDJDIT$@)~!D 

GS414 12 

(B) DNA and RNA 

,CD) DNA and ribosomes 

(B) DNA lDJDWJtb RNA 

(D) DNA lDJD{Pltb Q>l}CurrCa:rrtbs;m 

CB) Peristalsis - Vitamin A deficiency 

(D) Rickets - Vitamin D deficiency 

(B) Gurfl6iuLrrru61w - mruL..LuSIQ'f A ud>!Drr8;@imf.D 

(D) rfl8;Ga;L..6iu - Q)G\JLLL.61~ D UJDJDrT.$®'1lJD 



35. Arrange the following divisions of the classification ·of the plant kingdom in descending 
order: 

I. Division Pteridophyta 

II. Division Thallophyta 
III. Division Spermatophyta 

IV. Division Bryophyta 

(A) IV, II, III, I ~ III, I, IV, II (C) II, I, IV, III (D) I, IV, II, III 

t5lro6l.l(IJLD ~IT6l.HJ @~~~~ 6l.Jb6)c$UUITL!q-~ t5lrll6l.j8>b6)Gll .@!Dri.J@) 6l.Jrllffi8'u5lb\> Q"@§l· 

I. t.S1ITl61.j GLrTlaLrrb6)ULLrr 

II. t.S1ITl61.j ~rrarurrmuL.Lrr 

III. t.S1rtl61.l ~QuiraLOL...GLrrb6)ULLrr 

IV. t.S1rti64 t5lb6)1JalUrrb6)uLLrr 

(A) IV, II, III, I (B) III, I, IV, iI (C) II, I, IV, III (D) I, IV, II, III 

36. Identify the kind of movement exhibited by Mimosa pudica (sensitive plant). 

37. 

(A) Nyctinastic movement (B) Thigmonastic movement 

(C) Photonastic movement (.fi) Seismonastic movement 
;' 

mtnatnrra:rr \d,tq..a;rr ~rr6l.JIJ~~ru G6l.lffiluuffil~~uu@tb ~b6)8'6l..f<'!ib6)m c$~L!Dlw6tftb 

(A) §llrfil@)tb @1wi;a;tb (B) Q~rr@ @lU8;a;tb 

(C) ~Glfl ai!irr8;@)@1U8;e;tb (D) ~~ir6tf @1U8;e;i.b 

Consider the following statements with reference to the surface tension 

(i) Falling rain drops are spherical due to surface tension 

(ii) Oil has greater surface tension than water 

(iii) To prevent breeding of mosquitoes, oil is sprayed on the surface of water in pools 

Which of the statements given above is/are correct? 

.Al<.( (i) and (iii) only (B) (ii) only 

(C) (i), (ii) and (iii) (D) (i) only 

UIJLI4 .@@6Elffi8' uii>!Dl 8fl.WJLD t5lm6UCIJLD 6l.Jrr8;$lrnf.J8>6"6)GTT c$(1J~~ro Qa;rrwc$ 

(i) UIJULl ,@Q:g6l51ffi8'1!Sl~ e;rrlJ~LDrrs; LDQ>!,9~ffila;ro Ge;rrm 6l.Jlltm6l.Ju Guwi£m,IDm 

(ii) ~~~u5lm UIJULj .@@QS\6"6)8' ~.mJb6)1J QS\L ~pjlc$LDITc$@Q98;@)tb 

(iii) . Qs;rrard;s;ffi @muQu®8;8>~~6"6)6l!T8; s;L..@uuffil~~ a~rf.J.$111..jwGTT .ffirrul)"LitSlm LD§J Q"~Q~u'..J 

Q~Glfluuir 

atnaQ) ®!Dlut5lL..@mro 6lm8;£1Lirfil.sffilro Q"Q)6l.J 8'rTllLirrwb6)6U? 

(A) (i) LDrDWJLD (iii) LDL.ffiltb 

(C) (i), (ii) LDJDWJLD •(iii) 
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(B) (ii) LDL@t.0 

(D) (i) LDL@tb 
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:38. The transmitting device that blocks signals between a cell phone and the base station is n 

(A) Cell phone divertcr (B) Cell phone shield 

~C( Cell phone jammer (D) C'ell phone mnsks 

ma.uC:u8l6i@)ib. c:!Jl~m ~~rnJ JblmQ>UJ~~!D®Li>@mLuSlQ>rrQT Q)o'!JQ)&&mro ~~tq.$®ib u1Jl.'.aS@ 61TfD6aliD 

(A) ooa;uC:uSl ~ms=tnrr!DWl (B) m.suC:uSl a;QJs:ib 

(C) ooa;uC:uSl tRrtLDfr (D) ma;uC:uil @aie!-J>tq .s~ 

39. Consider the following statements : 

Assertion (A) : Force cannot be added to pressure 
Reason (R) : Their dimensions are different 
Now select your answer according to the codes given below : 
(A) (A) is correct, but (R) is wrong 
(B) (A) is wrong, but (R) is correct 
(C) Both (A) and (R) are wrong 
(D) (A) and (R) are correct and (R) is the correct explanation of (A) 

BilTrJ(iWTtD (R) : c:!JjQ'lQJ8imlQI uifltDrr(iWJ"ri.Js;~ QQJ6i.JC6U!!:)I 

@QJ!i>!!:)l6i'r L5lmQJ(!9ib Gfbrr®Lit51Q$l®Ji>~ 2-.ri.Js;~ 601mLmUJ~ Gfbrrl~ G6u'.J8'> : 

(A) (A) s:rrl ~Qlrrro (R) fDQJW 

(B) (A) fDQJW ~mrrro (R) s:ifl 

(C) (A) LDJD111JW (R) @116i5T@ib )2)G'Ul11J 

(D) (A) LDri>ll)liD (R) @116i5T@Li> s:ifl, C:LD~ib (R) ~mu~ (A) QSlri>® 6rflUJrrQT ~m.!i;s;ib 

40. Sky appears blue due to the phenomena of 
(A) interference of light rays 
(B) dispersion of light rays 

(C) polarisation of light rays 
.. (D) scattering of light by air molecules 

QJITQTW ~Q>LDrr8i@(!9UUQ'lfh GlS)QJrt).!i;@)ib )2)~~QJLD 

(A) vimi ~Q'lrua;mim ®f91.9i£L..@ GlSlQ'lw~ 

(B) vimi ~mru.smim .ffi1!Dut5lrrlms; 

(C) virol ~mrua;61flm fDWGlS'lmw~ 

(D) a;rr!Dg» ey>ru.$8i1.giia;QflQTrrro ~ct>u@ib ~ml ilfb!DQ> 

GS414 14 



41. The Reasons for high Air Pollution in India is given below. Find which of the following 
statement is incorrect. 

I. Uncontrolled growth of vehicle population 

II. Use of high quality fuel 

III. Wrong siting of industries 

IV. No pollution control step in early stage of industrialisation 

(A) I and II (B) II (C) III (D) III and IV 

.@Jf>~UJrrG))lru <:!>!~Bi <:!>!GrrGlJ a;rr!D!J)J LOrrs;urrL.tit!Da;rrm s;rr!JfilRSTrli!s;m Qa;rr@lixJ:;uuL.@mm~ . t5lmGtJ@t.0 

Bil.W!J)J.smlro ~GtJ!!)rrm~ s;~L!]5)a;. 

I. s;L...@uu@~~ QPtitUJrr~ <:!>lmG))lru Gi.ms;m Gu@8i.st.O 

II. ~UJrT~IJ 6T"it1Qurr09ffi uUJmurr@ 

III. Q~rrWt!Ds:rrQ>Q).sm\m ~GtJ!Drrm ~Q>L06lSJLri.Ja;ffi 

IV. Q~rrWtru GtJmrr66luSlm ~11t.0u~~aQ)aUJ wrrBi a;L...@uurrL.ur!Ds;rrQT QPUJ!i.>61.@mQJLD 

(A) I LDWQ")ILD II (B) II (C) III (D) III LDWIDJLD IV 

42. The union territory with lowest populat10n density as per 2011 census is 

(A) Lakshadweep 

_ {BY Andaman and Nicobar islands 

(C) Puducherry 

(D) Daman and Diu 

(A) .@Q)L.s:~~GlJa;ffi 

(B) ~.ffi~wrrm LDW!PJLD .ffil8iCs;rrurrir ~QJs;ffi 

(C) y~5as:itl 

(D) Lrrwm w!D!J)Jt.O Q)Lll..l 

43. The planet known as 'Evening Star' when it appears in the Western Sky is 

(A) Mercury 

(C) Mars 

(A) y~m 

( C) Q s:G1.J6l.J rru:..i 

.---(13) Venus 

(D) Jupiter 
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(B) Q6l.Jffiml 

(D) G))lUJrrwm 

• 
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·1'1. Consider the following pairs : 

45. 

I. Diesel Locomotive Worb - Madhya Pradesh 
II. Chitranjan Locomotive WorkA - West Bengal 
III. Mihijam nnd Tnt Engineering and Locomotive Works -Jharkand Locomotive Works 

Which of the pair given above is I are correct? 
/ 

(A) I only (B) I and II ) C) II and III (D) JI only 

i5lmru®Li> @mQ!~usmro e;®~ID<» Ga:.rrme;. 

1. 1.e.aro .@11uS1ru .@e6lm t>_Jbu~ - LO~/DlU t51~~ 

II. 61~15v~oo .@11uS1ru @~6lm CL!i>u~~ - CLD!i>® QJrhJc$1TQn.o 

III. uS1£mrrLi> LDii>@JLi> 1-rrC.. GurrWluSllUro U>t0Wttb .@quS'lru @~ilm CLJi>uUl - ~rrrrs;rr~C.. @11uSlru 
6T~ilmLJi>u~ 

CLDJi>&~L... @mQ!llTe.Gttlru 1H191 srfl? 

(A) I LDL@Lb (B) I LD.(i>~Li> II (C) II LDWg)ltD III (D) II LOL@Li> 

The state with more number of lagoons in India is 

(A) Tamil Nadu (B) Gu1arat (C) Ker ala (D) West Bengal 

@jb~UJrr6lSlru B;rr1Urus;m ~~e; 6T~QR!fl&me;u9ro e;rrQ!llTuu@Li> LOrrj£lQ>t.b 

(A) ~uSl~Jf>rr@ (B) ®~qrr~ (C) Ce;17wrr (D) CLD!i>® ruri.Js;t.b 

46. Match List I with List II and select the correct answer using the codes given below : 
List I List II 

(a) Himalayan River ]. Luni 
(b) Deccan River 2. Brahmaputra 
(c) Coastal River 3. Krishna 
(d) Inland River 4. Palar 

(a) (b) (c) (d) 
(A) 4 3 2 1 
(B) 1 3 4 2 
(C) 2 1 3 4 

,.JD> 2 3 4 1 

Q.uflme: I CL1-Qi- QJrrlm6 II-moou Gurr®~~ QJrflm68il@>S;® £w Gs;rr@.MuuL_@mro G~rr®uLSlQSl®Ji;~ 
e:nllUrrQT 6lSlmLuSlmQT Gp;rrlQj Ge:IJJs;. 

(a) 

(b) 

(c) 

(d) 

(A) 
(B) 
(C) 
(D) 

GS414 

QJOlm6 I 

.@LDrrrulU J'h~B">m 
~S;e;rrQ!llT .rn~e;m 

e;LCrurrrr p>~B;m 
ILQr[hlTL@ pi~Sim 
(a) (b) (c) 
4 3 2 
1 3 4 
2 1 3 
2 3 4 

1. 
2. 

3. 

4. 
(d) 
1 
2 
4 
1 

Q.Jrrlm6 II 

~~ 
L5l 17Lb LO LI~~ IJ IT 

.$l(!J~QIGTIT 

UITQ)IT!Pf 
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47. The equivalent conductance of certain solution of acetic acid is 39.07 Ohm 1 cm2 equ 1. If 
II.a of acetic acid is 390. 7 ohm-1 cm2 equ 1, then the degree of dissociation of acetic acid is 

<Nf 0.1 (B) 0.2 (C) 0.5 (D) 0.75 

<:!916lL.L'j-.$ ~u51ru a;~IJ"6b1Sl6irr aLDrr60T 85Lfh~fh~!D6irr 39.07 ~LO 1 Qd't.02 6LDrr60TL0-1. QPL'j-61SlQ)rr ,llirr~~QSlru (A.a) 

<:!9161L.~.9; ~u5)Q)~~6irr 85L~~~ ~.(D6irr 390. 7 SlL0-1 Qd't.02 6LDIT60TL0-1 ~~Qi <:!9161L.~8; aiu51ru~~m t5lill~s; 

G))~LO 

(A) 0.1 (B) 0.2 (C) 0.5 (D) 0.75 

48. Methyl orange and phenolphthalein indicators are used in acid-base titrations. Choose the 
correct colour changes in acid medium and basic medium. 

Acid Base 

(a) Methyl orange 1. Red Yellow 

(b) Methyl orange 2. Yellow Red 

(c) Phenolphthalein 3. Pink Colourless 

(d) Phenolphthalein 4. Colourless Pink 

(A) a-1 and c-3 

...(Br a-1 and d-4 

(C) b-2 and c-3 

(D) b-2 and d-4 

<:!91uSlro-a;rrlJ" pjlJ"LOurrr'r~~rua;"1flru GlLD~~ru ~IJ"~a;LO, t5l60Trrruuth60@1LO ,!bl!Drfila;rrL.t.q..a;ffirrs;u 

u lLI Girru © .$16irr!J)60T. <:!91 uSl ro J.B16flQ) u5l@)J LO a; rrl) J.B16fl ru u5l@)J LO <:!91GUJiJp5l6irr a: ill lLI rr 60T ].b1 !!>LO rr!iJ !D rfil a;~ GTT ~ Q p;ITlQJ 
Q6uJ85. 

(a) QLQ~~ru ~IJ"~d; 1. 

(b) GLDp;~ru ~IJ"~a; 2. 

(c) t5l 60Trr ru u ~rom 3. 

(d) t5l60Trrruu~60~ 4. 

(A) a-1 LDJD!!)JLD c-3 

(B) a-1 LDliJWJL.O d-4 

(C) b-2 LDJD!))ILO c-3 

(D) b-2 LDlD!))ILO d-4 

<:!91 u51 Q)LO 

&16l.JuLJ 

LD~d'ffi 

@m~&lruulj 

J.b1!!JLDJD!J) J.b16fl6U 
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a;rrl)LO 

l0~6ffi 

§lruulj 

).b1!!)LDJDj!) J.b16flQ) 

@m~&16l.JuLJ 
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W. With refcrcnc ·to urea, consider th1• fo11owing statements 

I. 1 t is u cd as fertilizPr. 

11. 1 t docs not change the pH of the soil 

II I. It can he used to all types of crops und soils. 

Which of the statements given nhove is I are correct'! 

(A) II only 

((') Inndll 

~nlu.Jrr u!i>J61 &)QJ dfl.JDWJBiffi ~1Juul...@wmt91 

I. @~ t?...l]LDrrs; uUJmu@Bil!D~ 

·11. @~ LDtiar~m pH ~QrQ'>LDQ)UJ LDrrrl>wrr~ 

(B) I only 

(D) All the above 

III. @~ ~roQJrr QJQ>&UJrrQl p;rrruorhie;ro tn!DWJLb LDEior~!i>®Lb uu.Jmu@IJJD~ 

GLD!Ds;arL 6fl.!i>W!s;mlru 6rflUJrrm~ ~~? 

(A) II LDL@tD (B) I LDL..@tb 

(C) I LDrDiPJtD II (D) alDJDB.i•L '1"Q>rurrt.0 

50. What is the name for the 'war-god' which signifies 'destroyer of cities'? 

• (A) Purandar (B) Purushothaman ,, 
(C) Purushapur (D) Purohita 

(A) Y IJ)bp;ir 

(C) Y®G1!trTLJIJLD 

51. Ratnavali was written by 

(A) Bhasa 

(C) Nagarjuna 

l]~QlQ.JrrQSl '1"QJ!D !91TQ">Q) G;T"Qg~UJQJIT 

(A) UIT6rT 

(C) ,(DIT e;irgs~mrr 

GS414 18 

(B) Y®a~rr~~LDm 

(D) ya1Jrr£~rr 

(B) Sura 

(D) Vim ala 

(B) Sil]IT 

(D) 661LDQ)IT 



52. Match List I with List II and select the correct answer from the codes given below the list 

List I List II 

(a) Dutch 1. Goa 

(b) English 2. Nagapattinam 

(c) Portuguese 3. Hugli 

(d) French 4. Pondicherry 

(a) (b) (c) (d) 

(A) 3 4 1 2 

(B) 1 3 2 4 

!C) 2 3 1 4 

(D) 2 1 4 3 

GUfilm6' I ~Lm QJil\~6' II-iq.m~ Gurr@~~ Qlil\m6s;(§8;® £~ Qs;rrG.$.suuL..@m1m 6'filUJrr~ 6\SlmLi6l~~ 

Q~il\Q.j Q5u'Js;. 

Gl.Jfilm6' I 

(a) L6ar8;s;rr!Jr'r s;m 

(b) ~rr.i$1aQ)UJrrs;m 

(c) Gurrir6ar£6ltuirs;Gir 

(d) i.51 Q 1J\§ar8;s; rr!Jr'r s;Gir 

(a) (b) 

(A) 3 4 

(B) 1 3 

(C) 2 3 

(D) 2 1 

1. 

2. 

3. 

4. 

(c) (d) 

1 2 

2 4 

1 4 

4 3 

Qlil\m6 II 

~rTQlrT 

)Drrs;uul...tq.~L.0 

~-f)B;Gtfl 

urr~tq.6G6'ill 
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5:1. 1\lohamnwcl bin ' l'ughlaq s l11f'te cl h is capital from I>cll11 to D:i ulatnua<l for the fo l Im\ ing 
reason . 

54 

I. 

II. 

IJJ. 

JV. 
(A) 
(C) 

It 1s eqlllcl1s ta nt from I> lh1 nnd it is easy to admnustra te. 

Snfo from Mongol Inva ion 

It lw a strntcg1c value 

He " a nt to expand l11s e mpire to the South. 
I, 111 and IV al'e cor1·ect (B) I, II a nd IV are correct 
I, II , Ill and I\ are corr ct (lJ) I, 11 and111 nr correct 

""' 
(!;PffilD~ t51Qi ~8;m8; lb~ ~Q)Q)~H;Q'}fJ GLruQS'!uSlrol®Ji>t91 Q arru15rrurr~~JD® awl&<.WT1_ B;ITIJ~cbJ 
LD rr ti> !DI QT rrfr 

l. GLruro1uSlro1®.ffi~ 6LD ~IJL.b @®!fitf>§I. JblfrQJrr~!b© GJJD!Dtf>rra;@®felb~· 
II. inri.JC:e;rrro1u1 uQ>1...QUJ@uiSlro1®Ji;~ urr~e;rr~gp6; G.itrrtirm 

II I uS'ls;Qjtb QP8;.ilUJtb rurnuffi~ U®~ 

IV f>Ql@~Ltu t0rruQ>QlmUJ Qlb~u;~~Ji;~UJrrc5lru QSlnl6tJu@~f> 
(A) I. Ill LDWg)ILD IY . ' (' (B) I, 11 inJbgiitb IV lb cJift 
(C) I, JI , III U)!i>WJtb JV L.O 601 (D) I, JI LDWWJLD llltb qrfl 

Match the following Vijayanagar dynasties with their founders : 
(a) Sangama dynasty 1. Narasimha 
(b) Saluva dynasty 2. Ilarihara 
(c) Tuluva dynasty 3. Tirumala 
(d) Aravidu dynasty 4. Vir-Narasimha 

(a) (b) (c) (d) 

(A) 2 4 3 1 
(B) 2 1 3 4 

(C) 2 
.; 

1 4 3 
(D) 4 3 2 1 

£~W Qs;rr@~6iuuL..@wm 6lS1~UJ,[!)8ifJ c::!9!1J6 6ULD6ii.J8iQ)QT &(Q)Q.Ja;mm G~rr!i>Il)Jbl51~~Q.JrT8i(§L~ s:iflUJrra; 
Gurr®~~s; 

(a) 6r6Js;tb 6ULD6tb 

(b) 61T(§6U 6Utb6tb 

(c) ~(§6U 6ULD6LD 

(d) ~1T6U@ 6l..Jtb6tb 

(a) (b) 

(A) 2 4 

(B) 2 1 

(C) 2 1 

(D) 4 3 

(c) 

3 

3 

4 

2 

1. 

? ... 
3. 

4 . 

(d) 

. 1 

4 

3 

1 

,!DIJ"DlLDLDIT 

swrri~IJ"r'r 

~(!9LDQJQ) 
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55. What was the demand of the Justice Party? 

) AT Dravidanad (B) Bharatanad 

(C) Freedom of Nation (D) Liberation of Dravidians 

.ffi~a;L.6lu5lm G°19;mfl8;6IDa; GTm~? 

·(A) ~IJCT6E\L JD CT@ (B) UCTIJ"~ IJ)IT@ 

(C) 6lS1@~6IDru .rnrr@ (D) ~l)"rr6&Lrra;Gir 61Sl@fS6IDQ.l 

56. Whom among the following E.V. Ramaswamy Naicker met to press for a separate 
Dravidanad? 

/ (A) Sir Stafford Cripps (B) Lord Wellington 

(C) Lord Linlithgow (D) Lord Mountbatten 

(A) a:ir Giuun.Jau rrirL.. $lrfluGiu (B) GlSlrurolri.JLm t5l1Jy 

(C) 6'5lmrol~aa;rr i.Sl1Jy (D) LO~ml...~ULLm i.Sll)"t:.j 

57. Consider the following statements : 

Assertion (A) In 1944 E.V. Ramasamy formed the Dravida Kazhagam and 
demanded for a separate state called Dravida Nadu. 

Reason (R) In his view it was against the preponderance of th~ Northern Aryans 
and for the enhancement of the prestige of the Dravidians. 

: Now select your answer according to the codes given below : 

(A( Both (A) and (R) are true and (R) is the correct explanation of (A) 

(B) 

(C) 

Both (A) and (R) are true, but (R) is not the correct explanation of (A) 

(A) is true, (R) is false 

(D) (A) is false, (R) is true 

1944-ru rr-.aQJ. IJrrLDe:rruSl. ~1Jrr6iSlLa; s;w$~6ID~ ~1Jt.i:>t5l~~ ~11rr6l51L JDrr© 6TQr!D 

fS611ll JD rr@ aa; rrfil 8;Q>s;6ID w 6&@ ~fS IT fr. 

s;rro:~tb (e;rr) l@JL ~rflwira;GTfl6N ~l.OQ)fT~8;a;~~8;® 6T~IJ"IT856l.jtD. ~IJHG6lLl'r8>GTflm LO~Ulj 

~lLirTGl.l~fD$CTc$~LO .@8;s;L..§l ~61.J8>85UULL§J 6Tmu~ ~l@JrT <6(!9~~IT@)tb . 

.@61.JJf>.'Dlffi t5lmGl.l®Li:.:i GfSrr®LitSlrol®Jh~ ~rt.ia;Gir 66l~L6IDUJ~ G~fil64 Ge:u:..ia; : 

(A) (an), (a;rr) @'l~©i..O e:fil. (a;rr), (aa) -66l!DC6rr~ a:rrhurrm 6E\md;a;i.b ~®ti:> 

(B) (&), (<6rr) .@IJ~@i.b mfl . (a;rr), (aa) - G'l51Jbe;rr~ a:rflUJrrm 6E\QT.$<6tb ~ruru 

(C) (an) e:fil. (e;rr) fS6\.J.'J)l 

(D) (an) ~Gl.l.'1)1. (Birr) a:rfl 
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58. Com;idcr the following two statements one labelled as Assertion (A) and other as Reason (R) 
and select the answer using the codes given below: 
Assertion (A) The Vernacular Pre$s Act of 1878, directed ag:.unst Indian Natiw 

Ncv.·spapcrs was secretly conceived and passed at. a single sitting of 
the Imperial Legislative Council. 

Reason (R) The Amrit ha Bazar Patrika which came out both in Bengali and 
English was converted into an English paper overnight. 

_,(A) Both (A) and (R) arc individuaUv true and (R) is the reaction to (A) 
(B) Both (A) and (R) arc true but (R) is not related to (A) 

(C) (A) 1s true but (R) is fabe 
(D) (A) is false but (R) is true 

a.Sl~ru®Lb@® rurr.$£ltLJrfi.Je.;rolru Qa;rrGl.$e.;uuL.@mm 8fl.lDgJI (Bn) e.;rr17~10 (e;rr) ~~UJmrue;Q'>m6. s;®P>l>lru 

Ge.;rr~© £we;rr@)ILD G~1T®UL1a;ffil'6l<!!JJ.i:>~ ~ r6Js;m 661Q'>LQ)UJ~ Q~nl64 G6uJSj: 

BnJDtpJ (Bn) 1878·~lil <!lbEWTtq.6in ruL..Lrr17 GLDrr~ u~rfl~Hr,6 S:LLLD @9-.9>6lUJLDrra, 

L@QJrr8;e;uuL...© ~riu.$lC:roUJ @fr>~UJU C:u17176l~ Q)LDUJ 6LLIDOOJD~~G\) ~C:I}" 
eo!>!LOIT6'61Q> ~QljDC:GUJDJDUULL~ 

a;rr17Emtb (&rr) ~i.6lirJD uairrn u~~rflme; c:!?t~rumlJ Q.JrGJ6.irTQT QLOrr~t61§2Jtb. <!lbri.J.$lro~~§2JLD 
G'l6Umlru.[>p>~. @1JGGUrr@ @'7GUrra; @~ ~ri.Ji)QJu u~rTlms;UJrra; wrr!D!DuuL...@ 
6lSJL.L~. 

(A) (&), (6.irr) @IJEWr@Lb fl>EiUfl~p>EiUflC:tU a:rfllUrTQTQlQJ (e;rr), (&) 615100 6lS]gimQ.l 

(B) (Bn), (e;rr) @JJ~@C:LD 6ITlUJrr6MmGU ~QTrrQi (am), (an) @md~UJ 6lil1D)ii~Lb @ro6'6>QJ 
(C) (Bfl.) lfrflUJrr~@ ~Qlrrru (a;rr) ~QJ{!)J 

(D) (&) ~QJ!DITQT§J ~QTITQJ (.g;rr) 8'rtlUJrr6UT~ 

59. Examine the following statements and choose your answer from the codes given below. 
Which of the following statements is/are correct? 
I. In 1887 the third session of Indian National Congress was held at Thousand Lights, 

Chennai. 
II. In 1903, the 19th sessioI1 of Indian National Congress was held at Madras. 
Ill. In 1908 Nellai Patriotic Society was started by V.O. Chidambaram Pillai. 
IV. The leader of the Simon Boycot Committee in Madras was K. Kamaraj 
(A) I, II, III are true · (B) I and II are true 
(C) I, II and IV arc true (D) III and IV arc true 

£w.$a;~L 6l.Jrr8.;£!UJri.JB>mm ~"rrtLie;. £wa;e;~LQJ!Dwm a:rflUJrrbM QJrr8;~1U~m~/GUrr.$.$lUJri.Js;mGrr 
tl)IJLiuL...@mGrr G~rr@>~ug)'6l®Ji>~ Q~fil64 Ga:u:.ia; : 

I. 1887-~Lb ~~@ @)b~UJ Cf!j.fllU a;rrri.Jilf)'6l6N ey:i6in!!)rTQ.J~ lDIT)Drr© ~uSlJJLb 66lm$@)Li U@)~ 
lDflil}"rT§lQ> J!>~LG UfD!D~ 

II. 1903-~Lb ~~© @.ffi~UJ CfZ>6lUJ e.;rrri.J.$1JJ6l~ 19-GU§J LDITff>rr© LDp>l}"rr616U JDmLGu!iJ!D~· 

III. 1908-~t.b ~~© G)!iEii>OOQJ C~urr~LDrrGUT uri.Je;~g)~ ru.~. §l~tbuf)'tb i.51mmffi <:~rrti>gJ16!Sl~fbrrri'. 

rv. GuooQ>~ LDrre.;rr6l50T~i$lru 6¥>61D~ Y!Da;B>6lSl!fluy ®@6!Sl6in ~ma>@ . .11r ® e;rrwJJrr~rr. 

(A) I, II LDti>t!)Jtb III e:rTl (B) I lDJDIJ)Jtb II lfrfl 

(C) I, II LDti>tpJLb IV a=rrl (D) III LDJDIJ)Jt.b IV lfifl 
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60. Which social reformer proclaimed "India for Indians"? 

(A) Rajaram Mohan Roy 

(BJ Dayananda Saraswathi 

(C) Swami Vivekananda 

(D) Ishwar Chandra Vidhyasagar 

"@,rj;~hurr @,rj;~UJfra;(§8;C:a;" GHi~Tgll !Sll)a;LQTUU@~~UJ 6e!Jl8; 6fr~@~fb6l.JIT~ UJrrfr? 

(A) IJ"IT~ITIJ"ITLD C:LDrra;~ IJ"ITW 

(B) fhUJrT6llT,rj)fh 6f1~6l.J~ 

(C) e;Gl.JrruSl GlSlC:6l.Ja;rr6m',rj;fhr'r 

(D) n:~Gl.Jfr 6,rj;~IJ" GlSl~UJrrCFrra;rr 

61. Consider the following two statements consisting of Assertion (A) and Reason (R) and select 
your answer using the codes given below. 

Assertion (A) 

Reason (R) 

Lucknow Congress in 1916 entered into Congress-League Pact. 

Though Congress-League Pact was an achievement, yet it was short 

lived. 

(A) Both (A) and (R) are individually wrong 

(B) Both (A) and (R) are individually true but (R) is not correct explanation for (A) 

(C) (A) is true and (R) is false 

(D) (A) is false and (R) is true 

i51~6l.J@i.b @@6l.Jrrc6.$1UJri.ia;Gtflru Qa;rr@B>a;uuL.@ffiGrr 8fl.W!Dl ( 8in.) a;rrlJ"EmLD ( s;rr) ~8ilUJQ)6l.Ja;GIDGrr8> Bi@~~ru 

Qa;rr6liirr@ .§l~B;s;rrwit.0 Gfbrr@)Liys;Glfl~@.ID~ ~ri.Js;ffi GlSlQ)LQ)UJ~ Q~rfl~ GCFwa;. 

@8>C:6llTrr l.OIT)f>IT@ 1916-~t.0 ~6liirr@ a;rrri.i.$1118i-ro8> ~L6UTUfTLQ)L 

G6w~Qa;rr~L~. 

s;rrrt.J8il118i-ro8>
0

~L~UIT@ ~@ 61Tfl>Q)QTUJfT6ji£ 6i@fhUULLIT~LO ~~ .m~L 6jfTQ)L0 

.IB iq.B>a;6iS'l ru Q)Q). 

(A) ( Bfl.) LDW!l)JLD ( e;rr) @11~@C:L.0 fb6Uft~fl)~C:UJ f1>6U!J)rTQTQl6l.J 

(B) ( 8fl.) l!l!iJgllt.O ( a;rr) @11~@C:L.0 ~~?;~~C:UJ 6rtlUJrrQTQ'l6l.J ~QTrr(i\) ( a;rr) ( &.)6i516UT 6rtlUJrrm 

( C) ( 66\.) <Frfl. ( a;rr) fh6l.J W 

(D) (66l.) fh6l.J!l)l, (a;rr) 6filUJITQT~ 
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( '•) >-. Wl11eh of thl' follcm ing is/un· incorn•ctly matched'! 8elcct your ans\\ er using the codes given 
be low. 

I. Pur hottnmdns Tnndon Congress Pr~sulcnt in W'iO 

11. Avnclj fl ion of th Congress WG'i 

I 11. l\amnr:tJ plan I H.>5 
IV. I\amnn.tJ < 'ongrcss Prcsulent in I !)£i4 

(A) I and IV (B) 1 and II 

(r.) ]] and IV •. J D) 11 and Ill 

i5lm6U(!!>6UQTG1.J!DJDlru 6iflUJrr8iu Gurr®.ffifbrrp;~ ~~/Grmru? R-riilBiffi rnlooLmUJ £Gw <JBirr@B;.$uul...@rom 

Gfbrr®uLSlrol®Jil~ Gpjifl6l~ Quti:JlU~t0. 

l. 

I I. 
Ll@G61T~fbWfblTGTu LITQTL~ 

a>rrri.J.$11}§1~ ~QJtq. LDIT,(IirT@ 

II I. 8;1TlDIJ'IT6rT ~LLtO 

r v. .srrinr;rr6n 

(A) ltb, IVtb 

(C) Iltb. IV .. , 

.... I !)1)0.fu .srirb.J&gBT~ ~mQ)GlJrT 

I !)G:l 

1955 

(B) Ith, lltb 

(D) Iltb. Tlltb 

63. Identify the correct order of events from the followmg : 

(A) Resignation of Congress Ministries, August Offer, Cripps Mission, Individual Civil 
Disobedience 

(B) August offer, Resignation of Congress Ministries, Individual Civil Disobedience, 
Cripps Mission 

(C') Resignation of Congress Ministries, August Offer, Individual Civil Disobedience, 
Cripps Mission 

(D) Resignation of Congress Ministries, Individual Civil Disobedience, Cripps Mission, 
August Offer 

L51~6U@GlJmGlJ!DJDlru s:rflUJrrm a;rrQ)rurflQl6 Qe;rr~L .@8iwiFhl8imm c:!91Q}LUJrrmili s;rrGiGrs;. 

(A) s;rrri..16.'lgBT ~GllLDiJ:B'IJmQJs;ro u~G61 6\SlQ)a;ru, ~Biw@ ~Gtfh.Jy, ~rflu~ ~~6;®@· p;Qf\p;urr a=L.L 

LDWULJ 

(B) c"{bs;~@ ~mll.JLj, a;rrri.J.illJ'BT ~oow6el]'Q>GlJe;m u~GISl GISlQ)e;Qi, ~6aflJDuri" aL.L LDWJLILJ, .$1rflu~ 

~~8;®@ 

(C) e;rrriu.ilgs; ~QlLOiJ:61]'Q>GlJ8im u~G61 6lS'lrua;ru, ~e;~@ c:!91ffiluy, ~QfljDuri" 6LL LD!))IULj, .tlrfluQu 

~~tE®@ 

(D) 8irrriu.$1gs; ~Gr>LDiF61]'Q>QJ8iQr u~G61 GIS161J&6\>, ~6'afl)DUrT 6LL LD!J)ILIL.l • .$)rflu~ ~r~6;®@· ~&W@ 

~ffiluLJ 
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64. Match the following : 

Establishment of Lokayukta in states 

State Year 

(a) Orissa 1. 1985 

(b) Rajasthan 2. 1970 

(c) Bihar 3. 1973 

(d) Karnataka 4. 1974 

(a) (b) (c) (d) 

(A) 1 4 3 2 

(B) 4 1 2 3 

coy 2 3 4 1 

(D) 3 2 1 4 

Biwa;~Lru!D€4>!D Gurr®~~a; : 

wrrJBlrurius;mlru ~G1>rr.$~l48;~rr ~!Du@~~uul..L ~Qiar@ 

tn rrJBl Q) tb ~Qiar@ 

(a) ~illG1Urr 1. 1985 

(b) @1Jrr~~~rrm 2. 1970 

(c) t.5's;rrfr 3. 1973 

(d) s;fr]f> rTLln rT 4. 1974 

(a) (b) (c) (d) 

(A) 1 4 3 2 

(B) 4 1 2 3 

(C) 2 3 4 1 

(D) 3 2 1 4 
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65. Which nre correct relating to the merit system in India? 

I. The Charter Act of 1853 abolished the system of patronage and introduced the system 

of open competition as a method of recruitment. 

fl. A civil service commission was set up in 1854 to conduct the entrance examination. 

III. The age limit was 19-25 years. 

IV. The first competitive examination was held in 1855 nt London, on the basis of the 

report of .l\lacauluy Commntcc. 

(A) Only I, 11 and II I 

(C) Only I, 11 l and IV 

) B) Only I, II ond IV 
(D) All I, II, Ill and IV 

.@Ji;~ tLrn66l6i> ~®~QP6fl JD'1'l LO {;)p;rrLrru rr a. eifl UJ rrEialwru GT6f>Ql? 

J. 1853·4t0 4~tq..m 61T6QT6 eL.L.tb ~JDQj6rTrTi5lm (!PQljDQ'lUJ ~W1~Pi@ LD!f>WJl.b 4L.(;eirui5lm 

@Q'ljDUJrrs; QQJffilt..JuooLUJrTQT C:urrL.IJ.t. @mJDmlU ~n51@&l.Ju@P>~UJ~. 

II. I9JQ'l~QJ~ <:p;irm61J µ;1...~§!6UP>JD® 1854:ru Vl® ®14mLOuu~ ~giainUJtb ~mLO.$s;uuL.L§J. 

III. QJlU@ QJl}'LOLJ 19-25 6\J@LrE.ls;m-rrs;@®Jbfh§l· 

IV. QLQS;a;rr{:Q) ®@GiSlm ~!J516;ms; ~14uumLuSlru Q)Qio"rLafl6i> 1855-ru (!Pff>6i> aurrL.14~ Gp;ir6l.t 

JbL~fDUULL@. 

(A) I, II LO!i>J);lltb III LOL.@Lb (B) I, II todJ{Pltb IV LOL..@Lb 

(C) I, III LO!i>{Pltb IV LOL.@tb (D) I, II, III, IV 4$ltu ~Q)Eial~§Jtb 

66. Observe the following statements as to the village administration during the Mughal rule 

I. It was in the hands of Shigdar. 

II . It was also a judicial agency for disposing off cases involving disputes among the 
villagers. 

(A) Only I is true (B) Only II is true 

(C) Both I and II are true (D) Both I and II are false 

@e;rorrUJ ~L..SlSis;rrQ)P>~ro $11]"rrto JblrrQJrrs;tb Q~rr1...irurre; i5lm6U@tb Bil.(i>g,11s;mm- ~!DwC:JDrr8>®e;· 

I. ~~ Sl.9;p;rrrfl~ Q>e;u5l~®JBP'§J· 

II. ~~. ~IJrrto toSie;ffil~LGUJturrm t511}'6emQTBim 

~rT~~Q')QJ6;s;6;Bfl.14UJ J£1~ (!P8;Q)LOUJITffi6l.ttb .@@fbP'~· 

(A) I LDL.@C:to erflUJrr®tb (B) II toL..@Gto a:iflturr®tb 

(C) I, II ~$1UJ @'l~@tb a:rflUJrr@'jtb (D) I, II 4$1UJ @IJ"Qo-r@tb ~6U!DIT@'jtD 
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67. Which of the following statements are true with regard to ordinary bills in the State? 
(a) The Governor may give his assent to the bill, the bill then becomes an act 
(b) The Governor may withhold his assent to the bill, the bill then ends and does not 

become an act 
(c) The Governor may return the bill for reconsideration of the house or houses again 

and again present it to the Governor, he can again refuse to give assent and kill the 
bill 

(d) He may reserve the bill for the consideration of the President. 
(A) a, c, d (B) b, c, d )ff) a, b , d (D) a, b, c 

LDrr~Q)ri,J8jroJ6i> s:rr~rrljEm LDGs:rr~rrQ)6UU uJi>!DlUJ L.S1m6UQ!)LD ~!Dw8jffilQ} s:ITlUJrr6'0TG'Gl6U UJrrQ>GlJ? 

(a) ~~JDl'r LDGs:rr~rrGlSlJi>@> ~m ~uy~bnQ) c!9lffil~~· c!91Jb~ LDGs:rr~rr s:L...LLDrr@>tb 
(b) ~~JDl'r LDas:rr~rr61S'lJi>@> fbm ~uy~bnro .IB!wP>~ Q)6Uffi@>t..O Gurr~ c!91Jb$b LDGs:rr~rr @tq.6UQ)L.$lmJD§J. 

s:L.Lt..0 ~8;rr~ 
(c) ~~JDl'r LDGs=rrfbrrbn6U c!9lffi6U c!916i>Ql§J c!91Q>6U8;~.$@> LDl!)I urr16Q)Q)QT Ga:u'..JUJ c!91@JUtSl, 

LDGs:rr~rrbn6U ~ffi6U c!916i>ru~ c!91Q)6l..J8jGiT ~6'>JDG6UJi>i:Dl~rrru. c!{b~Jf>rrlLtb 6U<!!)tbGurr~J. ~6Ul'r 
viuy~bnQ) LDJDlffi@>t..O Gurr~ ~lb~ LDGs:rr~rrbll6U c!91~~~6lSl@8ilmJDrrr'r 

(d) ~~JDl'r LDGS'rrfbrrbnQJ ~6'0Trr~u~u5lm urrl'r6'>6U8i@) c!9l®JUUQ)rrtD 

(A) a, c, d (B) b, c, d (C) a, b, d (D) a, b, c 

68. Match list with list II an d select the correct answer u sing the codes given below the lists. 
List I List II 

(a) Reor ganisation of the state 1. 1976 
(b) 42°d Amendment Act 2. 1988 
(c) 61 st Amendment Act 3. 1978 
(d) 44th Amendment 4. 1956 

(a) (b) (c) (d) 

(Af' 4 1 2 3 
(B) 3 2 1 4 
(C) 1 3 4 2 
(D) 2 4 3 1 

6UITlQ)s: I fLLm 6UITlffis: II Q)UJ Gurr®~~ 6UITl6'>a:8;~8;® Aiw Q8jrr@S;e;uuL.@mGIT Q~rr®LitSlQSl®)b~ 

s:ITlUJrrGm GlSlbnLuSlffiQT~ Q~ITl61.j Gs:UJ8; 

(a) 

(b) 

(c) 

(d) 

(A) 
(B) 
(C) 
(D) 

6UIT1bns: I 
lD rr,!Bl Q) lD !9J 61) ffi LD U Lj 

426U~ s:LLPJ~®p;~t..0 

616U~ S:LL~~®~~tb 
446U~ 8'LLp;~(5p;~t..0 
(a) (b) (c) 
4 1 2 
3 2 1 
1 3 4 
2 4 3 

(d) 

3 
4 
2 

1 

GUITlffiB' II 
1. 1976 
2. 1986 
3. 1978 

4. 1956 
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G~). Which of ttw followmg statement on "No Confidence i\1otion" 1s false? 

(A) It need not stale thP reasons fol' its ndopt1on in the Lok Sabha 

(B) It cnn he moved against the bntirc Council of ~linisters only 

(C) ft is 1110\'ed for ascertmmng the confidence of Lok Sabha in the Council of Ministers 

) D) If it is passed in the Lok Sabha, the Council of 1\Iinisters need not resign from office 

£w Qs;rr@6;a;uuL.@mm "!J.>ilit5la,Q>a; .@rururr ~rhnrrmtb" u!f>!]51UJ &.!iJgita;mlro, piQJ!DrTQT~ ~~? 

(A) <::rurr6; 6urr6\Slro ~rrwrr6~~"'~ C:LD!DGe;rrtimr '1Jb~ e;rrlJ~(!Ptb s;rrL.Llfi <::p>GJlQJuSlruffiru 

(B) ~Q)tn8:8'fJ"Q>G\J (!P<.!:J?6l.llfi!i>®tb ~~IJrrs; LDL...@Gtn Qs;rr~@aJfJUULrurrili 

(C) ~GJltn8:8'flmruuSl~ Gtnru Qs;rr~@mro .!f>L.Ot51B;ais;m1U i2-~~uu@~JL Gs;rr~@ruguu@6l..l~ 

(D) <::rurr6; 6UIT~ru j£1GJl!!)GG\J!i>!l>UUL...LITQl, ~Q)lD68'f]Ql6\J 15ri.ia;m U1b6lSJQ)uJ~ ~!DS;s;<]QJ~tq.UJ 
Jfj)iru_lli15tb 6Ja>LUJrr~ 

70. Zonal Councils were setup in India on the recommendation of 

J.A) 1956 States Reorganization Act 
(B) 1966-70 Administrative Reform Commission 

(C) 1977 - West Bengal Document on Centre-State Relations 
(D) 1983 Sarkaria Commission 

@,!i>~UJrr6lSlro LD~LQ)Bi®@S;s;m ~mtn8is; urflJ1~Q>'l~~§I 

(A) 1956 - tnrrJfj)Q) LDg)J6f]mLDuLJ e:L...Lili 

(B) 1966-70 - .ffilrrQJrrs;B: lir~®~lb ®@ 

(C) 1977 - mLDUJ-tnrrj£lro f2...!!JQj8im ®!J5l~lb Gtn!i>® 6\Jr&.is;.$@)@ 

(D) 1983 - .g:rrS;s;rrrflUJrr.$ ®@ 

71. Choose the correct answer from the following statements. 
I. Indian President is an elected Head. 
II. fie is hable to impeachment. 
III. His powers are par with the President of the USA 
(A) I is correct (B) I and II are correct , 
(C) II only correct (D) III only correct 

£w.$8)~L QJrr.$.$1UJr&ie;mlru @®.lli~ 6iflUJrrQT6\J!i>GJl!D a15n-itGID@ 

I. @,!i>~UJ.$ ®tq.UJfJ"6i~ lbGJlru6l..Jir ~r'ribQ1D@8ia;uu@.$l!Drrir 

II. @QJrr @>Ji>JDGOl8'rr1JmQT.$@) 12-L...ul...LG\Jir 

III. @QJI]~ ~~e;rr17Lb ~QwrflS;e; ®LctUJf78i~ fbGJlQ>QJC§Bi® J&la;17rrQT~ 

(A) I .g:ifl (B) I in!D~ili II .g:ifl 

(C) II tnL...@ili .g:rfl (D) III LDL...@Li> .g:ifl 
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I 72. Which of the following is correctly matched? 
I. Eleventh Schedule Specifies the powers, authority and responsibility of 

II. 

III. 
IV. 
(A) 

(C) 

Twelveth Schedule 

Second Schedule 
Eighth Schedule 

I 

III 

m ~nicipalities 
Specifies the powers, authority and responsibilities of 
Panchayats 
Names of the states and their territorial Jurisdiction 
Language recognized by the constitution 

(B) II 

(Df IV 

£wffie;~L6l.JW!l)lffi 61thurre; Gurr®~)2:>Liul...@rom~ GT§!? 

I. u~a~ITIJIT6l.J~ ~LL6l.J~~ - !D6jlJITL6lu5lm ~~6jlTIJW ~~6jfTIJ~~6Ui.b LDWWJW GUITJDJUYffie;Gir 

II. 
III. 

IV. 

(A) 

(C) 

®rf>l~)2:>if>J 
u~QIJ~Lrr6l.J~ ~LL6l.JmQW- u<§6rrUJ~~ ~fh1e;rr1Ji.b ~~e;rrlJ~§J6l.Jtb Gurrwuye;ioir ®rf>l~~~ 

@IJ~LITGl.l§J ~l...LGl.JmGUM - LDrr.IBJru~~m GuUJQ9i.b GTru6"5lru 6l.JQ)1JUJm!D u!Drf>lUJ§J 

GTLLIT6l.J ~ ~ LLQI Q)QITT 

I 

III 

~1J6rrru ~li.J£e;rTlB;e;uul...L GLDrr~s;ioir udJrf>lUJ§J 

(B) II 

(D) IV 

73. The First Article of the constitution declares that India is a 

(A) United States 

.(B) Union of States 

(C) Federal States 

(D) All are correct 

@,IB~UJ ~1J5IUJru 61T<'TQT~~Gir C!:P~ru GlSlfEl @,IBfh11Urrmru 

(A) ffi8;lt11U LDrr.IBJruli..is;ioir GTGrr!DmW8;$'1G!T!!)§J 

(B) Vlmrf>lUJ LDrr.IBJruii..ie;ro GTG!T!Dmw~lt16iiriv@ 

(C) Sil.LLITL51 LDrr.IBJQ)ffi.ls;m 

(D) ~~~~@U:i 6rTlGUJ 

74. Which one of the following is NOT a basic structure of Indian Constitution? 

(A) Democracy (B) Secularism 

(e) Separation of Powers (D) Free and Fair Elections 

£w6UQ96U~6l.J!i>WJffi@,IBfh1lU ~1J6l1Uru 61T6~~~6iir Grif>J ~Lq-UUQ">L 6jLLQ)l.OUL.j @rumru? 

(A) LD8;e;rorrl...51 (B) LO~ 61Trrt.Sl~mLD 

(C) ~fh1e;rr1J t.Slifl@Slm~ (D) er~,!i>~IJLDIT~ LDWWJLD ,@UJITIULDIT~ a~rr~Qie;Gir 
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75. From the followrng. po111t out the stnt •me nt not re lated to recomme nrla t10n of J ean Drrzc 
Comnuttcc H ·po1·t !.!0 10 

(A) The wages under M < 'NHEGS should he linked to m 1lat10n 

;nf 
(C) 

Wage ra te s hould be re \ ised upwards every th ree months m 
PncP Index for Agricult urnl La hom e r s (CPIAL). 

Wages should IJ consistent\\ ith t\l in im um Wages Act, 1948 

line with Consumer 

(D) Working hours under the scheme s hould be reduced from ni ne hour to seven hours 
n day 

£ws;~L nn.!f>we;cllru Q~QT GLnlQU (,Jean Dreze) ®@ 2010. c:!9J!D16;me;u.Slm urfljt~ml]u5lru 
®WlutSILUULITID 6h0J1!5lm6Bl s;L..t.q-.$ e;rr~tSle;e;~Lb 

(A) we;rrp;wrr a-.rri>I) ~61UJ 11imJB> C:rumQ) rurni.Jul.l 0..£9!/,) /,)L..L~p)Ql (MGNRI~GS) £w ShGSl, 
u6l>Or<»SB:.e;P:,~Lm G)2irrLrry u@~~uuL. Gru~@i.b 

(B) ~ruunUJ G~rrW!Q)rrmne;~S;®iflUJ Sfl.6lSl ~m~ wrrp,ri.is;~.$® ~® &m!D ~ruarrUJ 
Q~rr~Q)rrmrre;~6;@>tflUJ @e;ITarunfr QSlmQ)rurr§l ®!DluSL..1.ttm LILtt 11 UJir~~ wrrJb!Dl c:!9lmw.$e;uL 
(]QJ~@Lb 

(C) @aiioJi;~ t.il...11 8'1.ml el..LL.b 1948 m utq Sil."51 iblairuuu@p;~uuL C:GU~@L.b 

(D) .@~/,)LL~~mu1.tt ;!J)ITQT ~~!1)1.$® c:~JQ)Q) C:Jbl]W S>mu~ waiaft C:µ,IJ~/>)ml@.IB~ 6J@ LO~ C:J!il]LDIT.$ 
®mwB;a uu@)2iru C:ruciar@tb 

76. Zero intercsl EMI scheme was banned in 2013 by which of the following body? 

(A) Cen tral Government 

(B) Securities Exchange Board of India 

(C) Reserve Bank of India 
,Y 

(D) Planning Commission 

£19s;~u;uw!Dlru 61',llif[> c:!9lOOLDULj 2013-ru 6'UL1.ttu.Slrururr 6LD LDIT)2ilTJb#)IJ fb6'UQ)QRIT~ f;IL.Li2;Qlf[> ff>OOL 
Geli..Jff>~? 

(A) LD~~UJ c:!9lf}"8T 

(B) G6.$B'fl.nlL.taw GT.$6iuC:~~~ C:urrrr@ ~Li @,llif;IUJrr 

(C) @/b/,)UJ illurr6iJ rur&J~ 

(D) /,)L..L..$ ®@ 

77. What is the share of renewable power to India's total electr ic installed capacity by March 
2012? 

(A) 10 per cent (B) 14 per cent (Q) 12 per cent (D) 8 per cent 

2012 wrrir.9: LDITf[>~#)ru J.DITLt.q-m GLDrrP,~ u51me:rrf}" c:!9JQllDULj @@ .ffiloolDJblQ)Q)uS)Q) Ll~utSl.$a;~s; t.6lm 
"-!i>u~~uSlQT c:!9161T6l.J 6rmro? 

(A) 10 e:~roff>i..D (B) 14 lf§"Jroff>Li:> (C) 12 "fhroff>i..D <D> a 6ff>roff>t.D 
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78. The first visit abroad of Indian President Pranab Mukherjee was 

(A) Bangladesh 

.)13) China 

(C) Bhutan 

(D) Maldives 

(A) 6lJri.Jt!DrT61T a~a:i.n 

(B) s~rr 

(C) l::J,LITQT 

(D) LO IT ru~~Qjt!DITT 

79. Which one of the following is not used to estimate national income? 

(A) Product Method CB( Investment Method 

(C) Expenditure Method 

(A) R-dJu~~ QP6"6)!D 

(C) G6ru6lSI~ @Ql!D 

(D) Income Method 

(B) QP~ro© <!:P6"6)!D 

(D) 6l.lQ!)LDIT~ (!;PQ'l!J) 

80. The "Food For Work" programme was restructured and renamed as 

(A) Integrated Rural Development Programme (IRDP) 

(B) Drought Prone Area Programme (DP AP) 

(C) Rural Landless Employment Guarantee Programme (RLEP) 

/D) National Rural Employment Programme (NREP) 

'~Em6l..l.$a;rr~ aQJQ>Q)' 6TQT!J) ~LL~Q)~ LDrr6Ji61 ~Q'>LD~~ LDl!)IGuwrr @;Liq- ------ ~LLLD 

"1"~ ~Q>wB;a;uuL.L~ . 

(A) IRDP ~L.Lill 

(C) RLEP ~L..Li.0 
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(B) DP AP ~L.Lill 

(D) NREP ~L.Lill 
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81. Fisc:il defi cit -

82. 

83. 

Budget deficit Ma rke t horrm\ ings a nd Jia lnlit ic 
(B) Primary ch1 fi c1t + Int1' n's t pnymcnts 
(< ) Total r ceipts - 'l'otal expcncht ure 
(D) None oft he a bo\ <' 

Gurr§! Jbl~u UJDJDIT.!b(§~JD = 
(A) 6\J!]~Qlfru~ u!f>!Drr.t mw + Qrurol66 · mp;uSlru lf.iLm rurrffii®ru~ LD!J>JJ)ib Ge;rr@.58; Gru~niru;6i 

8j Qi 

(B) (!fl~Q!e>LO u£Dwrr.t® !D + ruL..11t-6 Qa ;if;!~W 
(<") GLD'.TP°iJ!i ru@rurrU:J - QLDrr{bp;6 Garu61S1mib 
(D) §)roru q~uSlrumru 

The results of fourth All 
published in 

(A) 2009 - 201 O 

) G> 2011 - 2012 

,(b rrQ?e;rrru~ .&1.ilru @]b~UJ 

QrumluS1LUUL L <-"ijiQiGr@ 

(A) 2009 2010 

(C) 2011 - 2012 

India Census of Micro, Small and Medium Enterprise wa~ 

(B) 2010 - 20ll 

(D) 2012 - 2013 

®!PL 81Jl)J. !D©~tbrJ ffe{!)lrumriile;rol~ s;wir&Qs;@ui.Slar QP11t 6l.Js;ro 

(B) 2010 2011 

(D) 2012 - 2013 

Match List I with Lis t II the following with suitable options. 
List I List II 

(a) Rukmani Devi 1. Manipuri 
(b) Shobha Naidu 2. Kathak 
(c) Sadhna Bose 3. Bharatanatyam 
(d) Damyanti J oshi 4. Kuchipudi 

(a) (b) (c) (d) 
(A) 1 3 4 2 
(B) 1 4 3 2 
(C).- 3 4 1 2 
(D) 3 1 2 4 

ULLitUJru I '1Sl@fe@ ULLitUJru II m Gurr@~~s; 
u L..1.1tUJ ru I uL..1.1tUJru II 

(a) ®B;LD~ G~GlSl 1. LD~uyrrl 

(b) GQ<f ITU IT !D ITILJ@ 2. "'~ 
(c) s:rr~QJTrr Gurr~ 3. UrJ~,[!;ITL!it-UJtD 

(d) ~LDUJ,rj;~ G~rrGf\S1 4. ®661y 1.1t 
(a) (b) (c) (d) 

(A) 1 3 4 2 
(B) 1 4 3 2 
(C) 3 4 1 2 
(D) 3 1 2 4 
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84. Who was appointed as the Governor of Reserve Bank of India in 2013? 

(A) Dr. Montek Singh Aluwalia 

(B( Raghuram Govind Rajan 

(C) Dr. D. Subbarao 

(D) Dr. Amartya Sen 

LD~~lLI rfla:ir6i.J 6llri.J.ilu.9~ ~~J!il/rra; 2013- 6i.> J£11LIL6ld;a;uuL.Lruir 1Urrir? 

(A) Dr. LDrr~QL.9; 6lrf.J ~~6llrrrollLirr 

(B) JJ®lllTtD aa;rr61S'l)ii~ l)rr~~ 

(C) Dr. D. <!nLiurr11rr6i.J 

(D) Dr. ~LDir~~lLirr Q~ 

85. Match List I (Prime Ministers) with List II (Their concept of Bureaucracy) 

List I List II 

(a) Jawaharlal Nehru 1. Neutral bureaucracy 

(b) Indira Gandhi 2. Committed bureaucracy 

(c) Morarji Desai 3. Social justice based bureaucracy 

(d) V.P. Singh 4. Development oriented bureaucracy 

(a) (b) (c) (d) 

~ 4 2 1 3 

(B) 1 2 3 4 

(C) 1 3 4 2 

(D) 1 2 4 3 

uL.t.q.lLIGi.> I ( t5ll)~LO LD)ii~rlla;Gi'T) LDW!PJLD uL.t.q.lLIGi.> II ( ~~e;rrl) QJrrd;a;tb ®!D'~~ ~QJrra;m 85('9~~®) 

Gurr@~~.s. 

ULt.q.lLJGi.> I ULt.q.lLJGi.> II 

(a) ~ru~rrQlrrro GJ!i@ 1. J!i@i£lmru ~~.srrl) GLJird;a;tb 

(b) @)ii~ l)rr a;rr)ii~ 2. Gurrwuurrrr)ii~ ~~.srrl) QJrrd;a;tb 

(c) GLOrrl)rrir~ a~61TuJ 3. a:~a; ~~ ~1.q-uumLUSlQ>rr6UT ~~a;rr11 ruirB:;a;tb 

(d) 661. t5l. 61 rf.J 4. aLOtbUrrLmL aJ!irr.$.$lUJ ~~8ilTI/ QJ[r8;a;tb 

(a) (b) (c) (d) 

(A) 4 2 1 3 

(B) 1 2 3 4 

(C) 1 3 4 2 

(D) 1 2 4 3 
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BG. Con ider the following statements: 

A •rtion (A) : Ins 'Ctivorous plant dig t proteins of in crt body. 

Henson (H) : In. cctivorous plunts grown in nitrogen (N 2 ) dt>ficicnl soil. 

(A) (A) 1s true hut (R) docs not explains (A) 

) ) Both (A) and (R) arc true, (R) explain (A) 

(C) (A) is true but (R) is false 

(D) Both (A) and (R) are false 

an!bw (A) : ~ee;Giar®Li:> lbrr6U17Li> l:)6~a."tflm LL"51Q.> :iLmm l.lC:11rrl..1aJ;~1a;Qlm Gerfl&almJDQT. 

8>1Trf(WTLO (R) : ~8etaat®tb lbrr6U17Li> "'.!Jil..11~m uO>wrrB;®m!D 11...mar LDQior611aflW.Jtb rum(!!)tb. 

(A) (A) eifl ~QTrrQ.l (R) (A)-QS't!i>@; 6nlUJrrQT QS'tmM;wQ.>Q) 

(B) (A) LD!i>WJLi> (R) .@11~@Lb lfifl, Cw~t.b (R) ~mu§! (A)-QS't!i>® lfrflUJrrQT 6h)m8;e;t.b 

(C) (A) "ifl 4Qlrrru (R) >'6QJWJ 

(D) (A) w!i>g»t.b (R) .@11aar@t.0 >'66UWJ 

87. The Constitution of India was finally adopted on 

(A) 26 December 1949 

(B) 26 January 1950 

(G{ 26 November 1949 

(D) 30 November 1949 

• (A) 26 ~6Li>uir 1949Q> 

(B) 26 ~m6Uifl 1950Q> 

(C) 26 ~6Ut.buir 194960 

(D) 30 ~6Ut.buir 194960 
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88. In which case held in the supreme court was the 'Basic Structures' created? 

;£} Kesavananda Bharati Case 

(B) Golaknath Case 

(C) Minarva Mills Case 

(D) Life Insurance Corporation of India Case 

2...8:6~~LD6i!Tj!)~~ru JDL.ffi~ (;f.ffi~ 6'1.JW8;$lru ·~iq.uumLS; 8;LLQ)LDUl..jt$Gfr' (;J'QrU~ l!...(!96'1.JrTS;e;uuL...L§J? 

(A) Ge;66'1.JrrQT.ffi~ urrlJ~ 6'1.JWS;® 

(B) Ge;rrQ)S;,!Drr~ 6'l.JW8;@) 

(C) uSl~n'rG'l.Jrr uSlruGiu 6'1.JW.S® 

(D) ~.ffi%lLLI ~lllGiT e;rruoL...@.S a;we; 6'1.JW.S® 

89. Consider the following statements with regard to the Adivasi Mahila Sashaktikaran Yojana 
(AMSY) and find out the correct answer. 

90. 

1. It is an exclusive scheme for the economic development of scheduled tribes women 

2. A maximum interest r ate of 6 percent per annum is charged from them for the loan. 

(A) 1 only 

(B) 2 only 

(C) Both 1 and 2 are true 

(D) Both 1 and 2 are false 

~%lru rr61 LD$16!Trr 6~rr8;~e;l)Qr GLUrrss~rr (AMSY) Q~rru'rurra; t5l6i!rru@i.b e;®~~a;mGIT8; e;QJ~~§J 

6rrlLLirrm GlSlmL e;rr~e;. 

1. ~§! uwrlil@jtq.uSl~r'r Quooe;ml6i!r Qurr(§61TrT~rTIJ GLDi.burrL...iq.!iJa;rrm ~® ~~~ ~LLLOIT@)LD 

2. B;LWJS;a;rre; ~6l.Jr're;mlu.61@.ffi©J ~~l.lj-lD@) ~~e;uL...6LDrre; 6 6~6lSl.$1~ 6'l.JLLIJ- 6lSl~J;a;uu@$l!D~· 

(A) 1 LOL...@Lb 

(B) 2 LOL@LD 

(C) 1 LOJDWJLD 2 ~it'llU .@IJ~@Lb 6rrl 

(D) 1 LO!iJgittb 2 ~$!LU .@IJ~@Lb ~6'1.JIDJ 

When did the Protection of Children from Sexual Offences Act come into force? 

(A) 2006 (B) 2008 (C) 2010 (Df 2012 

(A) 2006 (B) 2008 (C) 2010 (D) 2012 
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91. Match List l with List 11 nnd Rclcct the correct answer by using the codes given below the 
lists : 

List I (Orgmusations) 

(a) 

(b) 

(c) 

(d) 

1ntcrnationnl Atomic gncrgy Agency 

United Nations II igh Commissioner for Refugees 

World Food Programme 

International Monetary Fund 

/ (a) 
(A) 3 

(B) 3 

(C) 2 
(D) I 

(h) 

4 

'1 

1 

5 

(c) 

1 
2 

3 

3 

(d) 

5 

5 

·t 
4 

List II (Ilcad Quarters) 

I. Home 

2. Paris 

3. Vienna 

·1. Geneva 

5. Washington 

QJrflm6 I-LLm ruiflms: II-~gru Gurr®~~ QJ1flm11e;~8;® £~Ge;rr@B>e;uuL.@mm Gfbrr@uL96151(!9).b~ 
s:iflUJrrQT 6'5lmuiSlm6UT Q~rflQJ Gs:u'.Je; : 

rurflQ'l11 I (~~LDu4) QJiflm11 II (~mru~LOwe;tb) 

(a) umQTrn.:.@ ~~s:8>fbl ®@LDtb 1. af]rrtO 
(b) c:&ie;~e;~S;e;rrQT m.9>..fhu p;m.:.@ fLUJir ~~~UJrT 2 urriflffi> 

(c) LQ)e; LQ!UTQj~ ~LLtO 3. 6l5l w Q-r QT rr 

(d) umQTrrL@ ~Iii mLDUJtO 4. Qal~QJrr 

5. 61.JIT~ri.JL~ 

(a) (b) (c) (d) 
(A) 3 4 1 5 
(B) 3 4 2 5 

(C) 2 1 3 4 

(D) 1 5 3 4 

92. Which one of the following Pairs is not correctly matched? 

(A) Aga Khan Palace Meerat 

(B) Akal Takht Amirtsar 

(C) Adam's Bridge Sand banks between India and Srilanka 

(D) Amarnath Cave Temple 

L9mQJ(!!)tO i!mQ!UTs;ffil'° ~Q'>QJ a:rflUJrre; Gurr®~fhuuL6!5lru~ru? 

(A) ~e;rr e;rrm LDrrffila>e; u51JL 

(B) c:&it66'> fhif,~ 

(C) 
(D) 

GS414 

4~rrtb urrrui.b 

~LDrT)DIT~ 

~i.6lir~61]ffi> 

@.lli~UJrr-@ruri.Jme;@~d:w rL6ir61T LD~GU atn@ 
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93. Match: 

(a) The President 1. First Citizen of India 
(b) The Chief Minister 2. Appointed by the Governor 
(c) Supreme Court 3. Guardian of our constitution 
(d) National symbol 4. Unique Identification 

(a) (b) (c) (d) 

wr 1 2 3 4 

(B) 1 4 3 2 
(C) 3 2 4 1 
(D) 2 1 4 3 

Qurr®~§Jc$ : 

(a) ®~UJIJBi ~Q)Q)GlJrT 1. QP~ru @.lli~UJ ®~LOe;m 
(b) QPpiQ)Q>LD66fr 2. ~1.§.IBIJrrru ,ffi)UJL.6lffic$u@.$l.rorrrr 
(c) 1!?__6a=,£~wm.rot.D 3. ~1JMUJru ~~LOL.JL.slm urr§Je;rrGLJQ)m 

(d) apifil UJ film 6l1Trii.J a;m 4. fil.rouurr6llT ~mLUJrrGJT,t..8im 

(a) (b) (c) (d) 
(A) 1 2 3 4 
(B) 1 4 3 2 
(C) 3 2 4 1 
(D) 2 1 4 3 

94. Vote Verifier Paper Audit Trial (VVPAT) was first introduced in 

(A) Alandur Constituency Assembly Election 

95. 

(B) Nagaland Assembly Election 

(C) West Bengal Assembly E lection 

CD) Maharashtra Assembly Election 

rurrffi® a:rflurrfru~ BL..@ ~~8;Q>a; LDrr~rfl (VVPAT) QPGf>JD QP~rolru ~!DJQPe;LiL@~~uuL..L§J? 

(A) ~Q))b~fr 6LLLDmJD Q~rr®~ G~fr~ru 

(B) .rnrre;Q)rr.lli§l a:L..Lwm.ro a~n-~ru 

(C) Gt.0W® GLJrii.Ja; 6LLLDmJD a~rr~ru 

(D) l.08irTIJrT~~IJrT B'LLLOmJD a~fr~Q) 

Recognised official languages of India 

(A) 25 (B) 23 (0) 22 

@.lli~UJrr60lru ~riiJ£a;rfl8;a;uuL..L ~wruQ)a; GwrrWJa;m 

(A) 25 (B) 23 (C) 22 
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!lG. Consider the follm' ing stntcments: 

Assertion (1\) 'l'he Supreme Court of Tndia clircctc<i the Elect10n commic;sion to 

introduce a button proviclin' for None> Of 'l'he Above (NOTA) in 

Electro111c Voting Machine. 

Ren son (H) It invnlidntcs Rule No. 49(o) of the conduct of hlections Rules I !J61. 

(A) Both (A) and (H) arc true and (R) is the correct e.xpl11nat10n of (A) 

(8) Both (A) and (U) are true. But (R) is not the correct explnnation of (A) 

( ~J (A) is tru(' but (H) is false 

(D) (A) 1s fal e hut (H) is true 

t5l~m.1Q!Jlh en6Jg)l6ia>ro 8jQ.J~S;s;: 

BnWJ1)1 (A) ~66Jb~LD6M!l)Lh uSlmQ"l®J rurr6i@U~Qj @UJjb~l]rfua.Gtflru '(~U>iiJB;~L UJIT(!5LD 

.@roQ'lru" (NOTA) Gurr~rrm6M &irb)(!Pe;uu@p;~ QJ~ffilTL~ll.jrom~. 

6.rTIJ~Lh (R) ~§J 1961-Lb ~~@ a~ITfhW JbL~~!D 6'5l~a;Gtflru Lffim QSI~ ·19(o)-mu.J 

LD~uuii>!!ffhrr8i8JG1SlL...L§,iJ. 

(A) (A) LD!D~ib (R) ~$ltu @IJ~@Lb qfil to!iJ!))Jtb (R) - (A) S;s;rrm efilu.mm 61S)QT.$e;1Drr@Lh 

(B) (A) LDWtl)tD (R) ~$ltu .@IJ~@Lb afil to!iJl!)ltb (R) - (A) t.s;rrm eiflu.Jrrm ~"n8;e;u5)Q)g,ru 

(C) (A) <'frflUJrrm~ ~mrrru (R) fD6l.l!!)rTm~ 

(D) (A) fhru!l)rrmt!Jl ~Qlrrru (R) 6filturrm~ 

97. In which one of the following case the supreme court of India laid down that the government 
employees do not have either a fundamental or statutory or equitable, moral right to strike, 
whatever the cause, just or unjust? 

(A) T.K. Rangarajan Vs Government of Tamil Nadu and others 

(B) T .K.S. Elangovan Vs Government of Tamil Nadu and others 

(C) MK. Stalm Vs Government of Tamil Nadu and others 

(D) Tamil Nadu Government Employee's Union Vs Government of Tamil Nadu and 
others 

t5lm6l.J(!9LO ~Jbfh QJ1:98;.$1Q) Q..66.£~LDm!!)LD, ~1]6i ~WltuITs;~B;®· ff,~ &jWQ)~ ~~~UJITQ"I ~Ibfh ~® 

&rTIJ6WT~~!D5rrs;Qjtb C:6l.la>ru Jblw~tfitb G<!Hu6l..1~6Js;rrm. &itttuu~L. e:L...L. e:w~~6\J ~ruQ)~ ~!DP-.fila>LD 

$1Q>LUJIT~ ~6Mll)I &i.r61tu~? 

(A) iq..Cs;. 1Jri.Js;r;rrmm ~~IT ff>u5l1:9e; allJ6i LDd>Wtb uQ)rr 
(B) ~.C6i.~Q\> @mri.J~rrQ.Jm "1"~fr ~uSlwa; ~JJ6i LDW!l)JLh uruIT 

(C) QP.a;. ooLrrrolm ~~IT fhuSlwa; c:!>llJ6i IDWJ])tb uror'r 

(D) fhuSl ws; &i IJ 6i '1i!IWJ UJ rr qri.J 8j Lh "1" {) rr fh uSl 1:9.s ~ 1J 8T LD w J]) w u Q)rT 
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98. Who is chosen for the 21 at Rajiv Gandhi Nation::i l S:irlbhavna Award? 

99. 

100. 

(A) Habiba Sarabi (B) Ustad Amjad Alikhan 

(C) Haraprasad Das (D) Vikas Kumar Jha 

21- 61.J§J l)rT~GiJ .g;rr.ffi~ C?i§lUJ 6'~UIT61.Jbm 6\Sl@§J.$® C~fr)i>Q?i@8;.g;uul...L61.Jfr UJrrfr? 

(A) ~i.SlulT a:11t51 (B) ~G;iu?irr~ ~t.Oa:~ ~6'5l.g;1TQ'T 

(D) 6lS].g;1TG;i\> ®LDITTr ~IT 

Who is the author of the book "Sea of Poppies"? 

(A) Amitav Ghosh (B) Surjit Patar 

(C) Akash Singh (D) Sharad Chandra Sinha 

"Sea of Poppies" ~Q'T!D Ll~?ie;~~Q'T ~§lrflUJfr UJrrfr? 

(A) ~uSla?i6iJ a~ITG;iu (B) a;fr~~ u?ilTfr 

(C) ~e;rrw §lriu (D) a:11~ a:.ffi~'I 6lQ'TjilIDIT 

Indian National Calendar was adopted from 

(A) 22nd March 1957 (B) 

(C) 22nd March 1950 (D) 

26th January 1956 

26th January 1952 

@)i>~UJ a~61UJ ,!DITQT.SITLtq.. ~.rowe; Gs;1Tffi6TTUULL ~~@ LD!Dg)Jt.0 ,!DITQT 

(A) t.nrrfr6 22, 1957 (B) ~QT61.Jrfl 26, 1956 

(C) t.nrrfr6 22, 1950 (D) ~QT61.Jrr1 26. 1952 

101. Consider the following statements. 

Assertion (A) Kudankulam Power Plant is known as Nuclear Power Plant. 

Reason (R) Atomic reactors are used to generate power. 

(A) Both (A) and (R) are individually true and (R) is the correct explanation of (A) 

(B) Both (A) and (R) are individually true but (R) is not a correct explanation of (A) 

(C) (A) is true but (R) is false 

(D) (A) is false but (R) is true 

£~.$s;IT@ILD Q.HT8;$JUJri.J8iQlGTT a;QJQll : 

661.rD l!)l (A) 66\.Lriu ® mt.O uSl Q'T,!£1 ffiQ) UJ LD IT QT §I ,!£1 iy,B;Glfl UJ IT rt uSl Q'T .ffil m 6U UJ t.O ~ro 

~!J51UJuu@~!D§J· 

a;rrlJEim"LD (R) uSl~m-rfJu~~S;® ~~ ~Q>rus;ffi uUJQ'Tu@~~uu@$1QI!Dm. 

(A) (A) LD!Droit.O (R) @11~@al.D a:ITl. Ct.n~t.O (R) ~QIU§! (A) GlSlii>® a:illUJITm 6\SlmS;e;t.O 

(B) (A) LD!iJroit.O (R) @11~@t.0 6'rfl. C:LD~t.0 (R) ~Qiu~ (A) GlSlrfJ® a:rr1UJITQT 6\Slm.$e;t.nruru 

(C) (A) 5ill ~mrrru (R) ?iQJW 

(D) (A) ~6\Jg)J ~mlTru (R) a:ill 
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102. Find x 

1 2 :3 

4 5 6 

7 8 9 
105 x 297 

(A) 225 (B) !J3 (C) 80 {I)) 181 
/ 

x ~ LD~ul.{5 a;rr~Bi • 

1 2 3 ·-
·1 5 G 

7 8 D 

105 x 297 

(A) 225 (B) 93 (C) 80 (D) 181 

103. In the followin~ series which will be the next diagram 

D DD[LJL [[]L [] I L L LL ? 
I L LL 

(A) 

(C) LLL 
LLL 
LL t 

1 

1 

(A) lW 
LLL 

(C) LLL 
LLI 

GS414 

2 

2 

3 

(B) 

(D) 

L L L 
LLL 
LLL 

5 

3 4 5 

40 

LLL 
CB) LLL 

LLL 

6 

6 



104. Identify the next figure in the series 

l +J4 1 ~1~ 1 ~i-? I 
1 2 3 4 5 6 

(A) [!] ~ ~ 

(C) ~ (D) ~ 

1 2 3 4 , 5 6 

(A) [!] (B) ~ 

(C) ~ (D) ~ 
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105. What is the ncxL figure in thP following series? 

i<Vi~l~l0JMI 
1 2 3 4 5 

/ (A{ ~ (B) [@] 

106. 

(C) ~ (D) ~ 
£~.g;rr@lb QJrf}Q'ls:uS1@ ~@~~ ULlb ~~? 

i<VJ~1~10J£j 
1 2 3 4 5 

(A) ~ (B) [@] 
(C) ~ 
Find the next term in the following series : 
QlF, S2E, U6D, W21G, "?" 

(A) Y44B 

(e( Y88B 

QlF, S2E, U6D, W21G, "?" 

(D) ~ 

(B) Y66B 

(D) Z88B 

C:wQ>.g;rr~Lb @ .. 11flms:uS1Q> ~@~~ CLWJUIS1Q'JGUT s;rr~s; : 

(A) Y44B (B) Y66B 

(C) Y88B (D) Z88B 
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107. Find the range of first 10 prime numbers 

(A) 28 (B) 26 (C) 29 jJY( 27 

QPfbro 10 u.srr 06WT.sGlflm 6566' turr@? 

(A) 28 (B) 26 (C) 29 (D) 27 

• 

108. The circle graph given here shows the spendings of a country on various sports during a 
particular year. Study the graph and answer the question. 

If the total amount spent on sports during the year be Rs. 1,80,00,000, the amount spent on 
Basket Ball exceeds that on Tennis by 

/ 
J A) Rs. 2,50,000 (B) Rs. 3,60,000 (C) Rs. 3,75,000 (D) Rs. 4,10,000 

Qs;rr@8;.suuL...L QJLL QJ6'>1JULLDrTm~ ~® .ffirTLtq.Qr LIQ) 6lSlm61TturTLlq-rD.SrTm Qs:Q)6l5lm~Q>{b8; 

s;rrL...@$l!D~· Bik98;s;6WfL uL~6'>ffJU urrrr~@ Cs;Gi"r6l5l8;@) u~ru Qs;rr@ 

~.rf>fb JDrrL...iq.m Gtnrr~~ 6lSl6'>61TturrL...@ Gs=ruQJ ®· 1.80,00,000 0dlro. &.6'>Luu.rf>~ 6lSl6'>mturrL...@8;® 

Qs=Q)61.j Gs:ti..Ju...iL.O Q~rrm.s GLm6lfil~ 6l5l6'>~mum.'. ... iq.Qi- Gs:rumQJ GlSlL ~~.sl.O 

(A) ®· 2 ,50,000 (B) ®· 3,60,000 

43 

(C) ®· 3, 75,000 (D) ®· 4,10,000 
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10!). Find tlw amount of' Hs. 1, too rnvcstcrl al SI 11% dunng the pcnml from ;)th Fcb.1994 to 
J9th 1\pri l In!) 1. 

(A) l{s. 1,n'1!J (B) Rs. 1, 1:11 ) ,, Hs. 1, 1:rn.:w (D) Hs. 1.469.20 

14% ~~ruL..llf ££15thi;lru ® 1,400 ~60Tl1J1 s 2.1994 QP~ru 19 4 1994 rumf] C!Pi5ro© G~nuUJuuL.Lrrru 
&;lmL6'@jtb GlDrrtbiDtb G~rrQ"le; (.TG\Jruro61J? 

(A) (!!I l ,G:rn (C> ®· 1, 1 :rn.:w ( ()) C!9 1,4 69.20 

110. The numbcl' of cars that reach a city doubles every hour. If there were 30 cars prcsvnt 

initially, the number of cnrs at the end of 71h houl's is 

(A) 3'180 (B) 3200 ) 3840 (D) 3600 

ti>® Jb6.1Jfb~~~ c;&tmLll..jtD s;rrrre;mla1 '1"do1~8;ms; ~ruQrurr® LD~ aJbfJQPtD ~® LOLrbJ.SITSil!!)~ ~IJ.WU 

)blQ)Q>uSlru .srrirs;Qflm '1"6iilrr~Bim8j 30 6T~ro 7 illmfl C/brJ (9)tq.6"61ro .srrfrs;rola1 '1"~~8>me. 

(A) 3480 (B) 3200 (C) 3840 (D) 3600 

111. DCBA have a certain sum of money each in the ratio of 3 : 3 : 5 : 7 respectively. Suppose 

D gives 10% of what he has to C and B gives 10% of what he was to A. Then find the new 

ratio of DCBA 

112. 

(A) 9 : 11 : 15 : 25 

(C) 10: 10 : 12 : 13 

(B) 11 : 12 : 10 : 14 

(D) 9 : 12 : 13 : 14 

DCBA <rr6iJTUGl.JrT8iGIT u~~Q)~ 3 : 3 : 5 : 7 <rr6ilr!!) 66l.$l~~~ro Q)QJ~~@8>£16iJTJ!)Q!IT D '1"6iJT"UQIIT Pi~~ 10% 

G~rrQ)e;Q)UJ C B>®t.b B '1"muQlrr p;Gm~ 10% Q~rrma;Q)UJ A ffi@)t.b Ga;rr@~fbrrGi> DCBA 6!6iJTuQJrrs;mlro 

'-1~ UJ 6151$1 p;~Q)p;.$ a;rr6iilrr a;. 

(A) 9 : 11 : 15 : 25 

(C) 10 : 10 : 12: 13 

CD: GH: :LM: 

(A) DC (B) 

CD : GH:: LM: 

(A) DC (B) 

? 

HG 

? 

HG 

(B) 11 : 12 : 10 : 14 

(D) 9 : 12 : 13: 14 

(C) ML 

(C) ML 

(D) AB 

(D) AB 
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113. Study the following graph and answer the question given below. 

Production of fertilizers by a company (in 10000 tonnes) over the years. 

80 

75 

65 

60 
50 

45 

25 

1995 1996 1997 1998 1999 2000 2001 2002 

What was the percentage decline in production of fertilizers from 1997 to 1998? 

(A) 25% (B) 20% (C) 30% (D) 50% 

.$W8;6.imrL UL~~~U urrfr~~ ~~6i!r Biw ~ITTG!T ~a;G'fr6618;® u:51ru Qa;rr@. 

~® 6.it.0Gudlu5l~ ®!DlutSll...L e;rrru~fb).[i>e;rrm ~IJ ~.ctiu~~ (10000 L6i!ra;GTflru) 
80 

75 

65 

60 
50 

45 

25 

1995 1996 1997 1998 1999 2000 2001 2002 

:LIJ ~.[i>up;~ 6T~f!jQ)6m" u~G'l5~tb 1997tb ~~lq-rol(!9.ti>@ 19988i@j@)~JD.d>@"1TGIT~? 

(A) 25% (B) 20% (C) 30% (D) 50% 

114. The square ratio of 3 : 4 is 

(A) J3:2 

!G) 9: 16 

3 : 4 6T6i!TL,J~6i!r @(!9Ulq- QS)$)~tb 

(A) J3:2 

(C) 9: 16 

45 

(B) 4:3 

(D) None of these 

(B) 4:3 

(D) .@~ru 6J@u51ru~Gll 
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115. A box contains cer·tmn number of Rs. 10 coins, Rs. 5 coins is tv.ic' the number of Rs. 10 

coins and Hs. 2 cams 1 t\' ice the number of H . 5 corns. If the \ nlue oft he contents of the 

box is Rs. fi60, the total number of coins is 

(A) 130 (B) 112 (C) l 2G , (D) 1 10 
/ 

GuL.~ ~m!Olru ~® ®!Oll.11.Sh:.L ,n:wQ!afl8i6fla,u5lru (!!) · lO JDrT~UJrius;~tb. <!9 10 Jf>1TQ'ia1UJr6.JB;m1>lTu <:urrQ) 

ii® lllLrbJ(§ c;rEiliar~.$me;uSlbi> C!9 5 jlirTElmUJrfuB;~tD lDtDg)ILD (!!} 5 JDITmTUJrfu56!lQTU C:urrru ®® lDLrfu@) 

®· 2 JI>rr~wrbia..~tb R..ro-mm ~uQuL.iq.uSlru 1?-mm )brTQIUTUJrbia;mlm GumM> LD~u1.1 C!9 GGO ~~ru 

Q u L_~uS1 ~Gilm Q LDrr ~lb p:>rr 61111TUJ rfuemlai '1"1ior~ 8;Qle; 

(A) 130 (B) 112 (C) 126 (D) 140 

116. Two pipes can fill a water tank separately by 12 minutes and 20 minutes a waste pipe can 

drain off in 30 gallons/min. If all the three pipes are open the tank fills in 30 minutes, then 

the capacity of water tank is 

(A)/ 300 gallons (B) '100 gallons 
/ 

(C) 500 gallons (D) GOO gallonR 

~® fbEiliar'1lllir GfbrrLiq Q)UJ @® ®wmus;m p;~~~6Uflwrrs; 12 .ffiluSLr&ie;mlru, 20 .ffilt.61L r6.Je;mlru lbEiliar~ool] 

.ffi117u~.ilm!Dm. Grum1C:tu!DJI)!Lb ®wrrwrrm~ ~® JfiluSlL~~!i:>® 30 C:e;bUm ~6!lfJ QrurolC:UJ!DIDJ.il!D~· @ial!PJ 

®WrrlLie;~Lb ~!D.li>~®Bi®Lb C:urr~ ,,6'9sr6!1ilir Q~rrL_iq.uSlru 30 Jfilu5luE.Js;6Tflru P,ir .ffil1JLb~.$1!D~ '1'~@. 

c!!>i~G$VrrLiq.uSlm Ge;rrmmm~ 

(A) 300 Cs;rume;m (B) 400 Cs;Q>ms;ro (C) 500 Ce;Q)me;m (D) 600 C:s;rome;'11' 

117. How long will it take a sum of money invested at 12.5% p.a. SI to increase its value by 50%? 

(A) 5 years (B) 3 years (C) 2 years {n) 4 years 

c!(l,Eiliar@.$® 12.5% $V~QJL~ 65~~~ru QPfbQ)@ Qa:u:.i~ ~® Gp;rroos;, c!9l~m tniJui.S1ru 50% c!!>liJs;tnrr.s c!(bo$ 

1.5ltq .$@)1.b Bi IT Q) Lb 

118. If the sum and product of two numbers are 60 and 864 respectively the numbers are 

(A) 24, 36 (B) 20, 40 (C) 26, 34 (D) 10, 50 

(A) 24, 36 (B) 20, 40 (C) 26, 34 (D) 10, 50 
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119. In an half yearly examination 60% of the candidate failed in Physics and 40% failed in 

Mathematics. If 15% of the candidates failed in both subjects and 7,500 students passed in 

both then the total number of candidates are 

(A) 50,000 (B) 45,000 (C) 75,000 (D) 60,000 

~Q>J]UJrr6Wf@~ G~r'rGlSlru 60% LOfrQR!T6l.JrTB;m @UJ!i>l.SlUJru UfrL~~~LD, 40% LOfrQR!T6l.JrTB;fil e;Q0fl~GlSlUJru 

urrL~~~U:i Gpjr'r8:6l Qu!DGlSlruQ>ru. 15% LOrr~6l.Jrre;m @JJ6WT@ urru6.1s;6Tft~U:i G)2iri"8:6l Qu!l)G'l5lruQ>6l>. 

GLOrr~~U:i 7,500 L0fr(illlif6l.JrTB;ro@JJEiar@ urrLrlile;ml@)Jtb a~rr8:6l Guii>n5l®Ji5~rrira;m {;f~Q) Gpjri"GlSlJi.>® Qa=6i!TJD 

LO rr QR!T 6tJ rT e;m {;f Eiaf El0fl 6;Q}a; 

(A) 50,000 (B) 45,000 (C) 75,000 (D) 60,000 

120. A Tree increases by 1/5 of its height every year. What is the height of the tree after 2 years, 

if its height is 50 cm now? 

(A) 70 (B) 60 (C) 72 (D) 65 

50 Qa:t.D :?...lLIJJQ:PfilGIT Vl® LOIJLDfrm§J vi6i.JG6tlrr@ 6tl(!!)LQ:PLD ~~6irr :?...UJIJ~~ru 1/5 LOLrlil® 6l.J61T@~JD§J 

{;f~ru. 2-6tl@Lri.Je;~6;@) l.Sl!D® ~~6irr :?...UJIJLD 

(A) 70 (B) 60 · (C) 72 (D) 65 

121. In a class of 30 students the average age is 14 years. By the inclusion of the teacher's age, 

the average age is increased by 1 year. What is the age of the teacher? 
...,. 

(A) 45 (B) 50 (C) 40 (D) 55 

30 LDITQR!T6l.Jrre;m :?...mGIT ~® 6l.J@>Lil.Sl6irr a=JJrra=rrl 6l.JUJ~ 14. ~6lrrlUJrrl6irr 6l.JUJm~lLJU:i Ga:rr~~a; Qa;rr6WTLrrru 

lfJJrrlfrrl 6l.JUJ§J ~6irr!PJ 8il.@~!D~ {;f~ru. ~6lrrlUJrrl6irr 6l.JUJ~ {;!"mm? 

(A) 45 (B) 50 (C) 40 

122. The decimal equivalent of the binary number is (111111)2 is 

(A) 25 (B) 40 )~ 63 

(A) 25 (B) 40 (C) 63 

47 

(D) 55 

(D) 65 

(D) 65 
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12,~. !\latch th" folio\\ ing 

L1 t I L1 t II 

(a) Leukcm1n I. Hed11ct1on in WB< count 

(h) l lcmoph1ha 2. l>ccreuscd 1 IB content 

(c) J\nn min 3. li'ailure of blood clotting 

(cl) Leucopcnia 1. \bnormal incn~n e in the WIW 

(a) (h) (c) (d) 

f 3 2 

( B) 2 :l 
( ') 1 ·1 :3 •) ... 
(D) 3 .i 2 

Gurr@~a; : 

uL.iq UJru 1 ul..~UJru II 

(a) ~8;~ t.6l UJ rr l. GrumQ)ro &iWJB;s;m ®Q)!DfhW 

(b) ~al.Orr :.t.S1rohu rr 2. ~aum®arorri5l6M ®~!D~ru 

(c) &i ml t.6l UJ rr 3. @'llbfhtb IL6ll!DUJIT{hGMQ)lD 

(d) @;] uSl B;aa; rri5l Qfl UJ IT 4. G6tlro6llro &i@Mm &i~Bi IL!i>u~~ 

(a) (b) (c) (d) 

(A) 4 3 2 1 

(B) 1 2 3 4 

(C) 1 4 3 2 

(D) 3 4 1 2 

124. Malaria, Yellow fever and Filariasis diseases are transmitted by 

(A) Tsetse fly 

(C) .Mosquito 

(A) Gs:L.Jl rF 

(C) Ga;rra; 
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(D) Body lice 

(B) tnGm"ru rF 
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125. The relation between seasonal changes of temperature and body form· is exhibited by 

cladocerans is known as 

(A) Cyclosis 

(C) Thermotrophism 

~ Cyclomorphosis 

(D) Diapause 

U<§6ll 8;IT60ffi.18;~ro ~~LIT@')LD G6lluu,!£1"6)ro LDITrD!Dffil8;Gir ~GrrnGLrr..flr;Q-r ~Lru 6l.ll1l-6ll~~ru LDrTW!D~6'>~ 

GJ!Du@~~t.O )£18;~ir6lu51Q-r GuUJrr 

(A) ~e:B;GrTrr 61Giu (B) "6)e:B;arorrwrrrr:.au rr 61Giu 

(D) 6'>LUJUITGiu 

126. Choose the correct answer. 

A male receives "X" chromosome from 

I. mother only 

II. father only 

III. both his mother and father 

IV. either mother or father 

(A) III only (B) I and II (C) IV only 

e:ITlUJrr~ 6EJ"6)L6'>UJ~ G~rr.[tG~@.$8; : 

~® ~~ LD8;~ "X" ®Gr;rrGLOrrGe:rr"6)LD UJrrfilLt.0 .@®Ji>~ Guw$1!Drrrr 

I. ~ t.Dw rrGEI LLD LOL..@t.O 

II. ~uurrGElu..O wL..@t.O 

III. ~t.OLOrr LD!DIDJt..O ~uurr .@<§6l.lrllu..6l@Jt~ 

IV. ~t.OLOrr ~roru~ ~uurrGEILt.0 LOL..@t.O 

(A) III LDL..@t.O (B) I LDWIDJLD II (C) IV LDL@t.0 

127. Sunderbans and Andaman Island ecosystems are known for 

(A) Lakes (B) Rivers 

(C) Tidal ecosystem )Df Mangrooves 

(A) GJITl8;ro (B) ~8;ro 

(C) bW>LLru @;~~6'>Q)LO~uut.O (D) GLOQTBil.ei:?Giu 
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(Df I only 

(D) I LOL@LD 
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128. Consider the following prurs : 

I. Gluco"ide - Digitoxm 

II. Tannin - Ephedrine 

III. Resin - Canada bnlsnm 

IV. Gum - Reserpine 

Which of the pairs given above is /are correct? 

(A) I and IV 

(C) II I and IV 

i.SlQ?QJ®Lh@g,Qme;mm lti®~~ru Gs;rrma; : 

I. ®~8iC:.srrm6@ - ~~i_rr8;6TISIQ? 

II. CL~Qr - '1'LSh:.ITlQ? 

III. G11.flm - e;mi_rr urrru6Lh 

IV. t5lilm - tflQa:rrQ'luQ? 

CLD!i>®JJSlut51L.L @Q)(;l!U'Te;GITlru 'if~/ 'ifQ)QJ s:tfl? 

(A) I LD!f>g»li> IV 

(C) III LD!f>l!JJLh IV • 

(B) I and II 
/ 

~) I and III 

(B) I Ln!f>l!JJLh II 

(D) I Ln!f>Wf i.O III 

129. Which of the following statements about 'Glycolysis' is TRUE? 

I. It is the process of breakdown of glucose 

II. It occurs in the cytoplasm 

III. It is operative in the inner membrane of mitochondria 

IV. It is also known as citric acid cycle 

(A) I and II 

(C) I and IV 

(B) I and III 

(D) II and IV 

".$lmmB;C:a;rrQS'li)QI)" ujj)JD1UJ £WM~L &.JD£Dl8.i61flQ.i e:ITlUJn:m6'lQJ 'ifQlQJ? 

I. @~ ®~ffiCs;rrffi> i)Q)~~~Q.i .ffilBiW61J @QlJDUJrr®tb 

II. ~~ 6'ls:L.<:Lrrumrr6~~Q.i .ffile;b9£Q?JD~ 

III. @~ 6'lLnL.CLrra;rrQ!L.tflUJrr661QI SLros:6i.J6'1Sl6i> .ffila;w£Q!!D~ 

IV. @~ 61L.tfl8; c:!>!i.6lQ) 6iWJD61 '1'QT61Jt0 c&16'lW8;a;uu@.$l6Ul'JD~ 

(A) I LnJDWJi.O II (B) I LnJDWfi.O III 

(C) I LDJDl!)JLO IV (D) II LDJDg)LO IV 
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130. A carnot engine works between the temperatures 30 Kand 300 K. What is its efficiency? 

(A) 50% (B) 47% ffe{ 90% (D) 10% 

Vl® s;rrrra6nlrn.: .. @UJ.lli~IJtD 30 K LDWfP!tD 300 K ~£!UJ GGl.luU,rb)Q)Q)B;~8;.$)6f)LUSlru aGl.JGl)Q) Ga=ti.J£l!D~· 
~~m UUJ@JfPI ~JDm 6Hi~TQI? 

(A) 50% (B) 47% (C) 90% (D) 10% 

131. Match List I with List II correctly and select the correct choice 

132. 

List I List II 

(a) Diode 1. amplifier 
(b) Transistor 2. display 
(c) Solar cell 3. rectifier 
(d) LED 4. electricity 

(a) (b) (c) (d) 
(A) 4 3 1 2 
JB) 3 1 4 2 

(C) 2 4 1 3 
(D) 4 3 2 1 

Gl.Jrfl~a: I lL.LQr 6l.Jrfl6f!a: II Gr>QIU Gurr®~~ a:rflUJrrQI 6lSlGr>L~UJ8; s;rr~a;. 

Gl.JrflGr>a= I Gl.Jrfl~a: II 
(a) 6r>L aUJrr@ 1. Gu@8iit1 

(b) lq-IJIT m §I 00 Lfr 2. s;rrL...5IUJ6!Tlu4 

(c) @;ITlUJa;Q)tD 3. ~®~~ 
(d) LED 4. uSlQia=rrfJtb 

(a) (b) (c) (d) 
(A) 4 3 1 2 
(B) 3 1 4 2 
(C) 2 4 1 3 
(D) 4 3 2 1 

A magnet is allowed to fall through ~ metal ring, during the fall 

(A) its acceler~tion is equal to 'g 
(B) its acceleration is greater than 'g' 

ccr its acceleration is less than 'g 
(D) its acceleration is equal to the product of 'g and the radius of the ring 

~<!9 lL.aQ)rrs; QJG1)61TUJ~~m Gl.JwiaUJ Vl® s;rr,[i>~tb GlSl@tb aurr~ 

(A) ~~Qr 46l5lu.%u4 QP@8;s;tb 'g' a;® a:LDLOrra; lL.m61T~ 

(B) ~p;~ 1...j6lS'lt0rru4 QP@8;s;tb '{/~UJ GlSlL ~~<'ELDIT<'E lL.m61T~ 

(C) ~p;~ 46l5ltilrru4 QP@8ia;t.b 'ff Gr>UJ GlSlL @)QlJDQ.lrrs; lL.mffi~ 

(D) ~~~ 46l5ltilrru4 ey>@.$s;tb 'g LD!i>fP!tb ai6Gl61TUJ~~~ ~!Jill ~.$1UJQJ!D!Dl~ Gu®B;®~ Q~rrGr>a;.$@)6 
6LDLD rT s; lL 6frGTT ~ 
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1 ~a. Which of th followrng is i1worrectl) matched? 
r. Mnrch ~I .. pn ng l~q n i nox 
TT . Sept ember ~ I Autumn l~quinox 

III. Dec1' mh •r ~2 Wrnter solstic(' 
IV. ,J llllC 2 1 S um mer sols t ice 

(A) ) R( II (C) lll (D) IV 

tSlmru@QJmQJ£i>giiro ~wrrQT Gurr@~~U> ""~? 
I. inrrir6 21 6U6Jb~ 6lDIJITtb~ifl 
I J. GuuLLi>urr 21 .@mruu..j~ir 6lDIJrr~~11 
III. lq<'ftDUir 22 @Qflrr sri.J~IJID6®TLD 
IV. ~9m21 QQJuU 5ri.J6.Jl]1D6Wrt0 

(A) I (B ) II (C) III (D) IV 

134. The cold current which flows a long the eas tern coas t of South America i 
/ 

(A) Labrador .,..(B) Ji'nlklnn<l (C) Benguela (D) Canaries 

G1f>m ~GLOiflS;Bi &iwa;® 6.iLJi>a;mq u®~uSlru s; rr~ruu@ib ®"'flrr J$G1JrrL..Lt..0 

(A) Q)rrUl]Lrrir (B) .".urrSiQ>rrJi>~ (C) Qurfu@;(JQJQ)JT (D) a;rrmrfl 

135. Match Lis t I with Lis t II and select the correct answer using the codes given below . 

; 

List I List II 
(a) Metamorphic Rock 1. Gyps um 
(b) Sedimentary Rock 2. Granite 
(c) Igneous Rock 3. Mica 
(d) Che mical Rock 4. Con glomerate 

(a) (b) (c) (d) 
(A) 3 4 2 1 
(B) 2 3 1 4 
(C) 4 2 1 3 
(D) 3 2 1 4 

uLtq.UJru I ILLm uL..tq.UJ@ Iltq-Q>m Gurr®~~. uL..tq.UJrua;1.96.@8; £aw e...mm G1f>rr®Lit5lQS'l®.ffi~ S"iflUJrrm 
QS'lmui5l6l>m G1f>ITlQ.j Ga:li.Js;. 

ULtq.UJQl 1 ULLq-UJ@ II 
(a) IL(.!9LOrr!!SllU UrTQ>,!DBiQr 1. ~u~Li:> 
(b) Ulq-QJU UITQl!D<'bID 2. 8il IJIT mmL.. 
(c) ~uurrmJDs;m 3. 6l>LOBilT 

(d) iJIJ'S:rTUJQTLJ UrTQ>,!DffiQr 4. Bfl.'1'TIT~B;JD$Qr 

(a) (b) (c) (d) 
(A) 3 4 2 1 
(B) 2 3 1 4 
(C) 4 2 1 3 
(D) 3 2 1 4 
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136. The Boolean expression of the output Yin terms of the inputs A and B for the circuit shown 
in the following figure is 

A 

B 

(A) Y = (A + B) (A+ B) (B) Y =(A + B) . (A+ B) 

_..(o(' Y = AB+ AB (D) Y=AB+AB 

£Gw Qe;rr@8;e;uuL.@rom BTJD!Dlru A LDJD!J)Jtb B GTQru6b1 ~rom@e;oo GTQflru. GGl..l~ID@ Y uSlw ld>rohuw 
Ge;rr~QJ GT~? 

(A) 

(C) 

A 

B 

Y = (A+ B) (A + B) 

Y =AB+AB 

(B) Y = (A + B) . (A+ B) 

(D) Y=AB+AB 

137. Which one of the following rivers does not cause flood in Orissa? 

(A) Mahanadi (B) Brahmani (C) Baitarani ;FJ') Markanda 

£Gw Qe;rr@8;e;uuL.@ffirom6l..IB;~ru ~rflffi>~rr wrri£1ru~ro ·Q6l..lroro~6'>~ 6JJDU@~~rr~ JD~ GT§!? 

(A) lD$1TJ!i~ (B) t.S1grrLD~ (C) 6f>ULITIJ~ (D) LDITrT$~LIT 

138. Which of the following is not related with "Elnino Effect"? 

(A) Drought (B) Heavy rainfall 

(C)7 Tsunami (D) Severe cold 

t.S16irrru(!96l..IQIT6l..IJD!Dlro "GTru)£1GQITrr 6lSlmro6l.('L6irr Q~rrLrrt.S1ruQ)rr~~ GT§!? 

(A) 6l..l!!)L6l (B) ~~B;LDITQIT LD6f>wu(;;)urr~Gl.j 

(C) ~rrL.61 (D) a;@ri.i®~rr 

139. The State of India which is least vulnerable to tropical cyclones among the following is 

(A) West Bengal (B) Andhra Pradesh 

(C) Gujarat (D) Orissa 

Biwe;ooL@fe~lU LDIT.ffilGl>ri.ie;(§ffi ~lLIGUTS: @;!DIT6l..JffiluS16irr UIT~Ulj L.6le;8; @)~!Dfe~ e;rr~uu@tb lDITJbl6Utb 

(A) GLDJD® Q.JrliJa;tb (B) ~.ffi~IJ t.S11}"G~s:tb 

(D) ~rflffi>~rr 
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140. Match the items given in column A with tht> items m <:olumn B 
Column A Column B 

(a) Potash nlurn I. ZnC03 

(b) Mohr's salt 2. K2so .. ·Al2(S0,)3 ·24H20 

(c) Prussian blue 3. F'e 4 [Fe(CN)6 ]s 
(d) Calamine 4. (NII 4 hSO~ ·Fe804 ·GH 20 

(a) (h} (c) (d) 
(A) 1 2 3 4 

(B) 3 •l 1 2 
(C) 2 3 4 1 
(D)' 2 •I 3 1 

Q~rr®~ J\mQJ Q~rr<§~ B-Q4Lm Qurr®~~e:;. 

Q~rr®~ A G~. ®fl B 
(a) Gurrl...Lrr~ "'-"hQ)LD 1. ZnCOJ 

(b) CLDrrrrw Q..;uy 2. K2so .. ·Al,(SO.>:i ·2·1H20 

(c) Ll(!!)~UJQT .£Q)tb 3. Fe 4 [Fe(CN)6 ]3 

(d) a;rrQ>rn6l m 4. (NH,)2804 ·FeS04 ·6H20 

(a) (b) (c) (d) 

(A) 1 2 3 4 

(B) 3 4 1 2 

(C) 2 3 4 1 
(D) 2 4 3 1 

141. Cinnabar is tpe ore of 

(A) copper cm mercury (C) iron (D) zinc 

5lmQTurrrr m~rr~~(!jtb . 

(A) e:;rruurr (B) GLDrr.$®rll (C) @®tbl..l (D) 5lri.J6; 

142. The correct increasing order of acidity of HClO, HC102, HClOa and HClQ, is 
,. (A) HClO < HCl02 < HClOa < HClOc 

(B) HC102 < HClO < HClOs < HClO. 

(C) HCIOs < HClQ, < HCl02 < HClO 

(D) HCIQ, < HClOs < HCl02 < HCIO 

HClO, HCl02, HClOs LD!i>giitb HClO, ~SilUJ <:a:rrLDri.Ja;mlm ~uSlQ)~ ~mmLDuSlm a:iflUJrrQT 6J"WI EUiflQ')a: 

(A) HClO < HCl02< HClOs < HClO .. 

(B) HC102 < HCIO < HClOs < HClO.c 

(C) HClOs < HClO, < HCl02 < HClO 

(D) HClQ4 < HClOs < HCI02 < HClO 
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I . 

143. Match List I with List II and select the correct answer using the codes given below the lists. 

List I 

(a) Ammonia 1. 

(b) Nitrous oxide 2. 

(c) Hydrazine 3. 

(d) Nitric acid 4. 

(a) (b) (c) (d) 

(A) 2 4 1 3 

(B) 3 4 2 1 

(c( 3 1 4 2 

(D) 4 3 2 1 

a=rtlUJrrm QS)Q>Lu516'>6M~ Q~rfl6ll Ga=u'.Js;. 

QJrtlQla: I 

(a) al aLDrr Glfhu rr 1. 

(b) 6'>/DLIJOO 4.$ms=L 2. 

(c) Ql~LfJ~~ 3. 

(d) Q) ID L.rfl 8> al uS1 Q)lD 4. 

(a) (b) (c) (d) 

(A) 2 4 1 3 

(B) 3 4 2 1 

(C) 3 1 4 2 

(D) 4 3 2 1 

144. Which type of polymer is bakelite? 

(A) Addition polymer 

.(C) Condensation polymer 

List II 

Laughing gas 

Important industrial chemical 

Fertilizer manufacture 

Rocket Propellant 

rurflQla= II 

§1rtl.$@)ID rumy 

@.$£UJ~ Q~rr~d>a=rr6'>Q) @rJlfrrUJGNU Gurr@m 

~fJ~ ~UJrrrrh.Jy 

l)rr.$s;L. 6TrtlGurrQ?6TT 

(B) Homopolymer 

(D) Biopolymer 

au.$65JQ)L IOT~U~ 6Tjb~ QJQl8iUJIT6M UQ)Ultt? 

(A) aa:rr8i65>8i UQ)Ut.ct 

(C) ®!Pl8i8i UQ)Ut.ct 
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(B) ~®Ut.ct~~rrm UQ)Ut.ct 

(D) SLu51fr Ua>Ut.ct 
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J 15. \\ luch of the following statl'ment's about. l\ulahhrns is I ar" TRl E? 

I. l 11fonnat1on about l{nlabhra could be taken from Huddhi t tr>xt, 'I'amil literary text 
and Vel\'i1-t1di plates 

If. IJi tonnns regards the period as a 'Long Hi tol'ical Night' 

III. 'l'his period hns bl en mnrkcd hy the decline of Buddhism in 'I'am1lagnm 

IV. No Tamil literary works has hccn clone during this period 

J and I I (B) I I only 

lllandlV (D) lllonly 

6;61TU t5l l]rr e,;m u£i>!6hu £wa;Qfcrt_ &!i>l))lEcrflQ> 8 ifl UJ ITQT(!}QJ 6'f Q)QJ? 

J. 6iroui.5l17r'ra;~ uw!!SluJ G6U:Jp;1&Q>G1T Ljps~lDp.itb 61TrTsblf> J9J1ros;mlrol®Ji>~t.b t5l!f>s;rrru ~uSlw @ru8;&JUJ 

{9JJQ>s;ml'6l®Ji>~ Lb tn!i> ~Li> C:QJru6'6J ®tq. lf>L.@s;crflrol(!!>/b~ Li> Gu JDQ>rnb 

II. ru17Q>rr!D!!>rrrurrs;ar @J]tz, l£ITQ>~m~ S><!!> '.£61iar1... QJl]Q)rTfDIJ)J @IJ6ll' '1'Qri!)f ru19riil@i.il!!Jrrri'5.Gir 

Ill. @Ji;~ lfirrrutb y~~LO~i.b PJuSlwe;Pip;1ro 65w661QJUJ ~,rr>rrB;&lUJ a;rrQ>w 61"601g» ®JDl6:ie,uu@il!D~ 
Iv. GTJT,fb66ltf> P-ilh1t9@Q).$~UJ uQ>LUL.j6i~i.b @!111> a:,rrrui>!)Q) !JiQ}L.Guwc6lroQ)Q) 

(A) I L.OrDl!)ltD 11 (B) II lDL@tO 

(C) III 1.0!Dgvt0 Iv (D) III tnL.@tb 

146. Which of the following statement's about Bnhadiswara Temple at Thanjavur is/are TRUE? 

I. Brihadiswara temple at Thanjavur was not a symbol of State power. 

II. Thanjavur was one of the most celebrated centre of the Bakthi Saints of the saivites. 

III. Thanjavur was captured by Muttaraiyar by defeating Vijayalaya Chola. 

IV. Muttaraiyar chief had built a temple for Goddess Nisumbha Sudini in Thanjavur. 

(A) I, II and III 

(C) II and IV 

(B) II, III and IV 

(D) IV only 

~~6rT~rT t51g~W6l.11JrT Ga;rruSlQ}Q)LJ ud>n5hu £wa;~L BiLrDl1)!8>61flro 6rftUJfTQTQ)QJ GfQ)Gl.J? 

I. p;~srr@:br'r t.91Ja;~~Ql1Jrr Cs;rruSlQ>rrm@ ~IJs; c::!9f~s;rr17~~m 61mmt0rr& .@®6;s;6lS'lruQ)Q) 

II. ~~srr§:!ir u8;~ @UJ.$s; 6'l6QJ 6LDUJ @!D6'6la;Qflm t.6ls; QP.$.¢;l(LJ ~ooLDrr®ili 

III. C!Pi>~Q}IJUJrTB;Qr 6lS'l~UJITQ)UJ Ca:rr~Q)(j~Ti> a~rr!Da;iq.p;@ ~~6rT@j,Q}f7~ Q)8iUu!i>JDlmrr 

IV. QPps~mlJUJrre;mlm ~mQ>6llrr .@61.0urr~iq.Qfl '1'W!LD Gu~ Q~li.J6l1Pi~!i>® ~~srr@:brftro Vl® C1£rruSlru 
e;L..iq.mrrr'r. 

(A) I, II LD!f>g»Lb III 

(C) II LO!i>WfLb IV 
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147. Match the following 

Urban Centres Founders 

(a) Muradabad 1. Muhammad Khan Bhangash 

(b) Farukhabad 2. Ghazi-al-din Imad al Mulk 

(c) Ghaziabad 3. Faizullah khan 

(d) Rampur 4. Rustam. Khan Deccani 

(a) (b) (c) (d) 

(A) 4 1 3 2 

(B) 3 4 2 1 

/ (C) 4 1 2 3 

(D) 3 1 4 2 

Gurr®~~s; : 

JDB>IJW .@rnnrr~~~Gl.Jfr 

(a) @IJ~rrurr,:i) 1. @8.ilD~ a;rr6'4T uri.Ja;rr~ 

(b) UQ9.$a;rrurrp; 2. s;rr~-~Qr-~6'41 .@tn~-~ru @6i.>.$ 

(c) s; rr~ lLI rru rr ~ 3. m u8TQ.J Ql rr s; rr 6'41 

(d) 1Jrrtb kj,r'r 4. 1JGiufb Lb a; rr6'4T ~lLB;s; rr ~ 

(a) (b) (c) (d) 

(A) 4 1 3 2 

(B) 3 4 2 1 

(C) 4 1 2 3 

(D) 3 1 4 2 

148. Which of the following is correct? In 1665, . by the Treaty of Purandhar, Shivaji ceded the 

following no of forts to Mughal. 

AA) 23 (B) 26 (C) 28 (D) 30 

t516'416l.l®6l.JmruJ!>giim a:rflUJrrm~ GT§)? 1665-1.b ~oo@ YIJ~fbir :LL6'4Tu~.$ms;u516'4Tu~ @airurrlLI®.$@> 

£\;9aiOOL GT~Hil5l5fl8;ms; Qs;rrooL as;rrL~Ls;Q>m 61rurr~ Qs;rr@~fbrTrT. 

(A) 23 (B) 26 (C) 28 

57 . 

(D) 30 
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IW. Kalashetra was founded by 

(t\) Pandita lfama Bai (B) Suhbulakshmi 
/ 

) <> Hukmini Arundale (D) Hcgina Guha 

B;Q) rra~~f]rrmru a~rrrt> p)laS1 ~QJ ir 

(A) u~llt~ IJLDIT urru'J (B} 6iu4ruL..8iL.6l 

(C) ®8>LD~ ~®~(:t_.ru (D) Ql]~~TIT @)~IT 

150. Match the following and sclPct the corrPct unswcr: 

(a) Mahatma Gandhi 1. Servants of India Society 

(b) Jawaharlnl Nehru 2. Indian opinion 

(c) IlP. Wadia 3. A.I.T.U.C. 

(d) V.S. Snnivnsa Sastri 4. Madras Labour Umon 

(a) (b) (c) (d) 

(A) 2 3 4 1 
, 

(B) 2 1 3 4 

(C) 4 2 1 3 

(D) 2 3 1 4 

£~B>~L6l.J(i)Q>J!) Gurr®~~ a:rrlUJIT~ ~mLmUJ a~ir}i>Q~@ : 

(a) LDB>rT~LOIT s;rrji;~ 1. @Ji>~lU aa:rus;irs;ioTr cl9161>LOUL.j 

(b) 836l..ls;irrurrru aJD® 2. @Ji;~UJ s;®~~Q96l.Hb 

(c) B.P. rurr~u.irr 3. 61".~· llt ll..j 61. 

(d) V.S. ~~rurra: a:rr6it>~rrl 4. Q.rarmm Q~rrWJrurrmr'r 6ri.is;i.b 

(a) (b) (c) (d) 

(A) 2 3 4 1 

(B) 2 1 3 4 

(C) 4 2 1 3 

(D) 2 3 1 4 
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151. Consider the following statements: 
Assertion (A) The most humiliating defeat suffered by the congress was in 1967 

Southern State of Madras where Kamaraj's administration was 
known to be clean and efficient. 

Reason (R) DMK's victory was due to Anti-Hindi agitation of 1965 and the 
support of the popular film hero M.G.R. 

Now select your answer according to the codes given below : 
/ 

,,..CA) Both (A) and (R) are true and (R) is the correct explanation of (A) 
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A) 
(C) (A) is true, (R) is false 
(D) (A) is false, (R) is true 

£w8;8;~L 6l.Jrr8;.tllUrGJ8;"6)GTT 8;@.J~8;8;64LO: 

&JD!PJ (&) Q~!D® l.DIT<SIT6!5ML.OIT~ G8'~"6'l6ITTu516i> 1967 a~r'r~~ro <SITlDl)IT~IT ~"6)G\)"6'll.Du5lrurr~ 
<SrrrGJ.tlf)8T8; <SL~ u5)19; aLDrrHLDfT<S~ a~rr!D<SliJ-<'i;<SuuL.L~ . ffifTLD IJ"rT~rl1~ .tBlr'rGl.JrTffiLD 
~uJmLDtufT6ITT~fTffi64LD ~!D~LDlUfT6ITT~ITffi6l..JLD <S(!9~UULL~. 

ffifTIJ~LD (8>rr) 1965-ro .tBl<S~,lli~ @J!>~-6r~r'ruyu aurrf)rTLLQPLD LD8;e;GlTlLL.b L51f)u6ULDfT6ITT 
~"6'lf)UUL ,[>tq..ffir'r 6T"LO.~ . f)fTLDH,lli~IJ~~ ~~1)6l..jl.D ~@$ ffiL~u5l~ Q@J!iJJDl8;@.i8; 
8> fT I) 6llN rGJ ffiGTTfT@) i..b . 

@Gl.J!i>!PJffi L.Slm@J®LD Q~fT@)UL.516151(!9,lli~ 2...rGJ8>Gir 61SlmL"6'llU~ Q~rl16l..j Q8'uJ8) : 

(A) (&) LDWWJLD (ffirr) a:rl1. (ffirr), (&)- GlSl!D® a:rTl11Jrr6ITT GlSlGTT<'i;ffiLDrT(§LD 

(B) (&) LD~!PJLD (e;rr) @ll~©L.ba:ITl, (.g;rr), (&) -6151!iJ<Srr~ a:ITlturr6ITT 6l51GTT.$8>L.b ~Q)Q) 
(C) (&) HITl, (ffirr) ~Gl.J!PJ 

(D) (&) ~6l.J!PJ, (e;rr) a:rll 

152. Consider the following statements : 
Assertion (A) The Lucknow pact opened the way to future development of 

comm unalism in Indian Politics. 
Reason (R) This pact was signed to bring together educated Hindus and 

Muslims into Indian Politics. 
Now select your answer according to the codes given below : 
(A) Both (A) and (R) are true and (R) is the correct explanation of (A) 
(B) (A) is false, (R) is true ,-

, (C) Both (A) and (R) are true; (R) is not the correct explanation of (A) 
(D) (A) is true, (R) is false 

£w8;8;~L 6l.Jrr8;.tl11Jiiue;m61T 8)6l.J~8;8)64 i.0 : 

&JD!PJ (&) ru8;G6ITTrr 9uu,[5~L.b @.ffi~tu ~IJ"fillU61516i> 6l.J@)ULI @Jrr~~"6'l~ t5lm~rrGtflro 
6rQ!lif~lLj!!)iJ: Q8'uj~~· 

8>fTIJ~LD (.g;rr) @61..JQ@Jrruu.ffi~L.b uiq..:2;~ @)i)~8;.g;mrolLji.b (Y)ffiLD~lUrTffi~GTTILji..b @,lli~lLI 
~l)~turo16i> 9mwu@~~@J~!iJe;rr19; ~8)QlUQ!l~~LUULL~. 

@ruwwm t51~6l.J®i.b Q~rr®uL.51~®.ffi~ ~ ... .rliJ.g;ffi 61Sl6filLmtu~ Q~rTl6l..J Qa:u:..i8> : 

(A) (&) LDJD!PJt.b (e;rr) a:ITl, (.g;rr) (&)-8;® a:rTlturr6ITT 61Slro8;.g;L.b 

(B) (&) ~6l.l!PJ c~m) HrTl 

(C) (&) LDW!PJLD (e;rr) HrTl, (.g;rr) (&)-8;® GJW!D a:rTllUrr~ 6lSlGTT8;8>L.Droru 

(D) (&) a:rl1. (e;rr) ~@J!PJ 
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153. Cons ider t he followmg two st :i t <> nH'nt R consisting of Asscrt1 011 (A) and Henson (R) and Hclcct 
your a nswe r w~ing the codes g1,·cn lw low. 

Assc•1t1on (A) 'l'hc ln d1 an Councils Act of 190!) introduced ' Incl irct't Election'. 

Rc<ison (R) The Act created Sl'pnra tc, Mu~hm Communnl Ek·ctorat ('. 

~CA) Both (A) a nd (I{) a re True nnd (I{) is the correct expla n ation to (A) 

(B) Both (A) a nd (H) nrc fabc 

(C') Both (A) and (R) arc true hu t (H) is no t the correct explanat ion to (A) 

(D) (A) is Trnc but ( H) is ~'a l~c 

i.Sl~QJ®LO .@®GUrr6i&lu..Jrli!e;Grf1ru GBirr@d;e;uul.@Gilw t!M.WID! (en.)' BiITIJ6Mnb ( .srr) ~£lu.JmQJo;aim8; 8i®Pi/)ru 
Gl»rr~r@ &<:~ Ge;rr@$8iuul...(Bl6lrm Q~rr®Lii.Sl~®Ji>~ su6.i1t4>iT ~Sl~LQ)tU~ Q~rflQJ Geu'.Je;. 

~ww {&.) 1909-~t.D ~66oriq.~ @J1/)tU BiQjm6lru eL..Ltb 'LDQ>!D<!Ps;~ a>'brr~Q)ruu' 

Y@)~~lU~ 

s;rr17QM!Ttb (n;rr) @ael...Lt.b (!PWro'tbs;~SiBirr~. ~Q\lt>G~rr@)/)OOtU 12....Ei!iorLrrffiSilUJ~ . 

(A) (8'1.) LDJDgl!LO (s;rr) .!{b8JlU .@1J6!ior@tb 8'rrl (Birr), (en.) 661~ 66ltUITQT ~QTS;g,tb 

(B) ( &. ) w !D gi1 lb ( s;rr) @IJ Eio-T@t.b S&QJ !!) 

(C) ( &1.) LD!i>!1)Jtb ( s;rr) @IJ~@t.b p;Q\l~dlaUJ erfl, ~~rrru ( l»rr), ( &.) 661~ 8'rllUJrrQT ~m8;.stb ~ruQJ 

(D) (en.) erfl (Birr) ~QJ.Q,)J 

154. Consider the following statements. Select your answer from the codes given below. 

I. Lal, Pal, Bal - were considered as the extremist Trio. 

II. Indian National Anthem was written by Rabindranath Tagore. 

III. The slogan 'Inqlab Zindabad' was r aised by Bhagat Singh. 

IV. Annie Besant was the first Indian Woman to preside over Indian National Congress 
session in 1917. 

Which one of the above statements is not correct? 

(A) I (B) II (C) III (D) IV 

£~.s6!iarL 6l.m8i£lUJrius;roQT l»<§)'b/)ru Qs;rrm8i. 8K~w Qe;rr(Bl8;B;u ul...@m61T G~rr®uye;Glflrol®fr>~ 112..rius;cir 

~Q)Lbl>UJ~ Q~rTlQj G6uJ$. 

I. QJrrru, u rrru, urrru c:!{b£1UJ ey>G'U(!!)LD f,~r; a~6llLI @QJrr ~m!PJ ~pSllUuul...LQl'ffr. 

II . @fr>pj)UJ rr~m G~filtU £p;tb@1J65fi;{J)1JJlirrPi ~rrBfl.IJrrm ~@~uwl...L~. 

III . 'yr;l...6l 6'Urrws;' ~mJD Q8irrwQ>s;8; ®IJ'bi> ~@ui.5lu..J§J us;~6lriu. 

IV. c:!9tmaf!Quqi6rl._ c:!91tDQ'lLDUJrrrr~rrm (!P~m (!P~rolru .@,lli~lLI a~fillLI 8irrrTuSil1J6l~ 1917 .J{!,tD 

c:!{b6lITTtq..m LDITJ!irrl...iq..!i>@i ~Q>rurotn ~rrriu.$1UJ @jt~UJu Qu~LD6Wfl. 

Gw!i>lb~L ~fi;~ QJrrffiSilUJ t.b pjQJ(!)rrQT@? 

(A) I (B) II (C) III (D) IV 
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155. Consider the following statements. 
Assertion (A) The special session of the Indian National Congress held at Calcutta in 

September 1920 defined the objective of the Congress as the 
attainment of Swaraj. 

Reason (R) The Act of 1919 did not offer Swaraj to the Indians. 

Select your correct answer : 

(A' Both (A) and (R) are individually true and (R) is the correct explanation of (A) 

(B) Both (A) and (R) are individually true but (R) is not a correct explanation of (A) 

(C) (A) is false but (R) is true 

(D) (R) is true but (A) is false 

£wa;a;rr@!lt.D 6\..lrr.$.ilUJr&idi~~e; 8i6\..I~. 

&i.!DII)! (&i.) a;Q)a;~~rr6l5lru Ga:uLt.buir LOrT1JjLD 1920-t.b ~~© }D"6)LGU!i>!D @,lli~UJ a~HJUJ.S 
a;rrffii.il1Tfil6in 6'l!!)uy lffi.LL~~ru p;Gin~rrL...91 Gufl)l6\..I@ a;rrrfil6il1Tfil6in @$.ilUJ 
®i:i518;Ga;rrGiT ~QT QPLq-GtJ Ga:uJUJUULL@. 

a;rrlJ'~LD ( a;rr) 1919-t.b ~~@8: a:L...Lt.b @,lli~UJira;~B;@j ~6inQTrrl....fil"6)UJ 6l..1Wffiia;6616\>~Q) . 

a:ITlUJITQT Gl5l~L~UJ~ ~ir,lliQ~@ : 

(A) ( &i.) LDtDIPJLD ( a;rr) a:iflwrr~"6)6\.JdiGIT LDtDIPJLD ( a;rr) a:rflUJrrQT Gl5lm8;a;~~p; ( <!M. )$@) ~ffil~~GiTGIT@ 

(B) 

(C) 

(D) 

(&i.) LD!f>IJ)!t.b (a;rr) a:rflUJrr6bT"6)6\.Ja;GiT qi,mrrru (a;rr) a:rflUJrrm Gl5lm8;a;~"6)~ (<!M.)8;® ~GlflB;a;661Q>~Q) 

(&) pi6\..l[l)l ~Qlrrru (a;rr) a:rfl 

156. Match List I with List II and select the correct answer using the codes given below the lists : 
List I List II 

(a) Abhinav Bharat Society 1. Mirza Ghulam Ahmed 
(b) Indian Association 2. Bala Gangadar Tilak 
(c) Shivaji movement 3. Surendra Nath Banerjee 
(d) Ahmadiya movement 4. Ganesh Damodar Savarkar 

(a) (b) (c) (d) 

(A) 3 4 2 1 
(B) 1 3 4 2 

Ae) 4 3 2 1 
(D) 4 2 1 3 

uL...ll\-UJ6i>-l fLLm uL...iq.UJ6i>-II-~u Gurr®~~. uL...iq.wrua;~8;®8; £Cw !LGiTGlT Gp;rr@iut.51rol®J!>~ a:iflUJrrm 
Gl5l~L"6)UJ~ Qp;iflGtj Ga:uJdi. 

(a) 

(b) 

(c) 

(d) 

(A) 
(B) 
(C) 
(D) 

uL...iq.UJro - I 

~t5\QTQi UrTIJ'~ Qa:rr"6)6Llq­

@,ffi~UJ~ ~aa:rr.flaUJ~m 

616\..lrr~ @UJ.Sa;t.b 

~dilD~UJrT @UJ.$a;t.b 

(a) (b) (c) 

3 4 2 
1 3 4 
4 3 2 
4 2 1 

(d) 

1 
2 
1 
3 

uL...iq.UJro - II 
1. wirmirr @>Q>rTLD ~8iLD§J 

2. urrQ> a;rfua;rr~IJ' ~Q)a;ir 

3. 8TGIJ',ffi~IT .mrr~ urrmir~ 
4. 
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157. Which of tlw folio\\ ing ~tatt'llll'llls about the Swadesh1 StL'ttlll Navigatwn ( ompan 1 arc 
correct'? 

I. Two ship \\er purchns"d 

II. Two mcrlwnized boats w1' rc purchased. 

111.. Bharatlu opposed the mimes of the s hips. 

1\1. l~nghsh oppose<l thii; natl\e venture. 

(A) All statcmcnti" arc correct 

(B) Kxcept s t alL'ment I, o thers are wrong 

(<3) l~xccpt stntcmcnt IV, others me correct 

0)) Except s tatement JJ, others are wrong 

..,,a~ JtrJrr~B; 1£uuru 1£L.bGu~mlUu u!D.(61 £~w ®i6l.$8>uu@8il~CDar 0fe~ en.d>we;ru enllUrrarmGl..l? 

I. @® e;uurus;m runrfue;uul..Lm 

JI. @(§@lUJb~rJ UL..@js;ffi QJfTri.JS>UULL..QT. 

111 urrr]~UJnir a;uurua;cllQ1GulUrre;mQT6Tp;lirp-;fbnr'r. 

TY @Ji>~UJrro;aflm .@L.bQPUJJb5lmlU 41-buOC:ruUJrr ~®L.bu~rumru. 

(A) ~rurun &W!l)M~L.b srflUJrrarmQJ 

(B) c!M.JD{DI 1 1b~rJ. LDW!D &i!i>jpl&Qr ~61.l!!J,rTQTQ)QJ 

(C) &lfD[f)J IV ~~r]. LDfD!D68'>QJ 6tlllUrTQTGl>QJ 

(D) 8'1.fD!l'.)l II Q')lLJ ~~IJ". LDrD!DQ)61.J ~QJ!DrTafQ)QJ 

158. Consider the following two statements consisting of Assertion (A) and Reason (R) and select 
your answer usmg the codes given below. 

Assertion (A) After Nehru, Lal Bahadur Sastri became the next Prime Minister. 

Reason (R) In his last days, Nehru had come increasingly to rely on Sastri. 

(A) (A) is true and (R) is false 

,...(B) Both (A) and (R) are true and (R) is related to (A) 

(C) Both (A) and (R) are false 

(D) (A) is false and (R) is true 

t5lmru®L.b @® 6l.lrrffi8ilUJri.Ja;cllQi Gs;rr@S;e;uuL...@GiTm &1.JDJJ)I ( Bfl), a;rrrJEmLD ( e;rr) ~.$1UJQ'lQJa;Q)m8; 

lf>(!!>;,~ru Ge;rrEiliGT@ £w Qa;rr@6;a;uuL..@GiTm Q~rr®ut51QS°l®Ji>~ R...ri.Je;ffi ~Q)L..Q)UJ Q~rfl~ Ge:li.Jlr>. 

Bfl.W!)'.ll (&1.) a,!!>®~fb®uL5lm, Q.>rrruue;~rr s:rrQ\>~ifl t5lrJ1bLDIJ"1T~rrrr 

c$rTIJ"EmLD ( e;rr) a.a;® ~m~ @!1)~ lr>ITQ)~~ru. e:rr~~rfluSlm 9p,~mwuQ'lu ~~lr>LD Gu£Dwrrir. 

(A) ( 6n.) rLEi!iGrmLD ( e;rr) ~rugit 

(B) (6'1.), (e;rr) ~~OOLD. (e;rr). (~)@IJ"Ei!iGT@L.b Q~rrLITL.jQ'lLUJQ)QJ 

(C) ( Bfl) ~Lb ( a;rr)6l.IL.b ~QJJDrrm6r>ru 

(D) ( 6n.) ~QJJ!)J ( s;rr) rL0068'>LDUJrTQTQlQJ 
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159. What were the services introduced in India as a result of the Aitchison Commission? 
I. The imperial civil service 
II. The provincial civil service 
III. The special civil service 
IV. The subordinate civil service 

(A) Only I, II and III 

(B) Only I, III and IV 

<c5 Only I, II and IV 

(D) All I, II, III and IV 

~L...6ls:m ~m~UJ~~m @SlmGIT6l.JIT8i@J!>~turr6!Slro ~r6l@B>UU@~~UULL U~8iQr lUITffi6l.J? 

I. 6JB>IT~U~~UJ ®~Q"JLDu u~ 

II. lDIT.$1T6WT.$ ®~Q"JLDU u~ 

III. 6l!J)UL.j.$ ®tq:Q"JLDU LI~ 

IV. s:rrrr.@mru.S ®~Q"JLDu LI~ 

(A) I, II tn!iJgi1Lb III tnL...Q;lLb 

(B) I, III LD!iJ!PJLb IV tnL...@Lb 

(C) I, II LDW!PJLD IV LDL@Lb 

(D) I, II, III, IV ~$1tu ~b6lro~~Li:l 

160. Observe the following statements relating to the Mauryan empire and administration 
I. Chandragupta was the founder of Mauryan empire 
II. Ashoka acted as viceroy of Avantika and Taxi.la provinces before becoming the 

emperor 

(A) Only I is true 

(B) Only II is true 
'8) Both I and II a~e true 
(D) Both I and II are false 

GwmiflUJu <!LIIJ"IJ"B• w!iJroiL.O .@rrrurrs;Li:l Q~rrLrrLirrB> tSlmru@Lb &1.W.(9!B>Q>GIT ~!f>roiG,!!irr.S®e; · 

I. s:)i>~IJ"@)U)'brT GwariflUJu <!u1111ms:~ G~rr!f>roi6!Sl~~6l.Jrr ~rurrrr 

II. ~as:rrs;rr, s:8;s;116l.Jrr~~UJrrs; 6l.J(!!)6l.J~!f>® @mLl ~6l.Jrr~~s;rr w!f>roilb l'h.$61Q)rr wrr.@roffiis;Glflm 

ffi6l.J Giu IJ"ITUJ IT s;8: Gs:UJWU LL IT fr 

(A) I tnL...Q;l<!tn s:nlUJrr®Lb 

(B) II tnL...Q;l<!LD s:iflUJrT®LD 

(C) I, II ~$1UJ @11~@Lb s:ITlUJrr®Lb 

(D) I, II ~$1UJ @11~@Lb ~6l.J!DrT®Lb 
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16 1. Consid1" r the followin~ stateme nt s 1· gardmg the la ws of ~lughal rule. 

I. The laws of Cod were conta ined only m (iuaran. 

II . Islam 1H·\ ·1• r e uvis11g1>d n s1w icty dom in att•d by Non-I\ l uslim s, who wc r ' ca llPd · 
',J imm1s'. 

(A) 

(C) 
< >nly I is tnu• 

Both I and I I a rc true 

j R) 
(D) 

Only I1 is true 

Both I and 11 nrc fa lse 

cyu£rurrUJ ~L.SluSloo 6l...Lrfuu;cir GJSrrwrurra; tSlmru®th &Ji>{l)lu;rnmffi BiQ!J§llb 

r. lbLG\.jbrtl601 6L..Lrfu8Gi"1 ©ir1Jrrafiro lDL..@C:U> t?..mmLr&ilhlu5l@~~ar 

II. 'tR't.OuSlw' c;rQiwm198;s;uuL..L (!Ps;LD~UJIT airururr~GJIJrrru ~~Mtb Ga~p;~uuL..L Vl® 6~~00'3 
©wrumb ~®Curr~tb 'l!i>!D~romru. 

(A ) I LDL..@C:LD 6iflUJIT®tO (B) 11 LOL..@C:LO 6nlUJrr©tb 

(C) I, I I 4tt'IUJ @IJ~@tb 6nlUJrr@:itb (D) I, I I c!(:l,£1LJ@fl~@tb fJruJDrr®tb 

1G2. Consider the following statements relating to Kautilya 

J. lie was the founder of the new school of administration. 

II. 

(A) 

(C) 

His original name ,.,,·as Vishnugupta. 

Only I is true (B) 

Both I a nd II are true (D) 

Gs;miq.ruUJrr Q~rrLrru rrs; LS1Gii6l.JQ!Jtb en.rt>t1)Ja;mQT8; 6>Q!J§Ja;. 

Only II is true 

Both I and II are false 

I. c::!9{Q.JrT JB1fr6U rra;p;~m Lj~UJ umffilmUJ8; a~rr!i>11)16lSl~fbQ.JrT ~6l.JfTrT. 

II. c::!9!6l.Jrrl~ @UJ!D GuUJrr 6!Sl~®J©UfbrT GT~u~rr©t.0. 

(A) I LOL..@tb 6filUJIT@)tD (B) II LOL..@t.O 6rrlUJfT@)tD 

(C) I, II ~6,lUJ j;\IJ~@tb 6rflUJrr©tb (D) I, II ~.$1UJ @IJ~@tb $f>QJ!J)rr@>tb 

163. Freedom of speech is not available for doing any of the following activities: 
(A) Inflaming communal passions 
(B) Insulting religious belief 
(C) Insulting any class of citizens 

.,...CD) All the above 

£wQJQ!}QJQT6l.J!D~m ~lb~ 66l$f> Jf>L6l.Jtq.8;ms;s;\58;® Cu6er 6',,fb~ IJtb .$lm1._uu~rumro? 

(A) QJ©uyrurr~ ~~rr6'6l6l.J ~~@~ru 

(B) lOfb Jr>Li>i518;ms;6'6)UJ ~Q.JLOITQTUU@~~~ru 

(C) @)i:@LiiSlL.L @)lq-l.OMblr iSlilJ6lS)QTQ'll] c::!9{QJU>1Tmuu@~~~ru 

(D) C:LD!D~i:@UJ c::!9l~m~~tb 
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164. Which of the enactments of the following was the net result of a highly centralized British 
Administration in India? 

I. Regulating Act-1773 

II. Pitt's India Act - 1784 

III. Series of Charter Acts. 

(A) I and II (B) II only 

(C) II and III ~ I, II and III 

I. Vl@r6.i@iey:im!!)8: c!fLLi.b - 1773 

II. L.SlL..@jbf)UJ8: c!fLLi.b-1784 

III. 6Urrlg)c!fUJrTQIT ULLUJ8: 6LLIB.h$GT 

(A) I LD(i>l];lli.b II (B) II LOL..@tb 

(C) II LD!i>l];lli.b III (D) I, II LD(i>l))Jtb III 

165. One of the following federation is described as an "indestructible union composed of 

indestructible states" - Identify. 

(A) England 

(Qy' United States of America 
/ 

(B) USSR 

(D) India 

~.ffi~ Bii.L..LrrL..61 ~mLDULJ, "&1~8>B>.@UJQ)rr~ LDrr)b1Q)ffilB>mQTu Qu!Dwirom ~WJ8>s; ,@UJQ)rr~ vil>irrpSIUJtb" 

~l>irr~ 661GUrftB;s;uu@.$l!D~ - ~mLUJrrmtb B>rr~a; 

(A) .@r6J.$1Q)rr.ffi~ 

(C) ~QLDrft8>B> ffi8>..filUJ p;rr@a;m 

(B) a6rr6\Sl UJ ~ l}'Gi!ji UJ vil>irrnSI UJ Lb 

(D) @.ffi~UJIT 

166. Mauryan Judicial organizations and Legal procedures were based on the prescribtion of 

(A) Buddism (B) Hinduism 

(CJ Artha Sastra (D) Persian Law 

QLDwrflUJr'r.sm 8irTQ)~~6i> ff>f) &j6DlDULj8i~8i@ii.b. c!fLL p;mL(Y>Q>!D8i~8i@)i.b ~lq.UUQ>LUJITUJ 66lroffil.$1UJ~ 

(A) LJ~~ Qs;rrmma;a;m (B) @.ffi~ Qs;rrmQ>B>s;m 

(C) ~r'r~~err6iuf)rJtb (D) urr118a; eL..Lriua;~ 
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167. How many members urc nominated to Rnjya Sabha by the Pn•::;idcnt? 

(A) 15 (B) 20 (C( 12 (D) 18 
.; 

(A) 15 (B) 20 (C) 12 (D) 18 

168. Who decides on whether A Bill is a Money Bill? 

(A) The Finance Minster 

(B) Leader of the opposition 

,.(C) Speaker 

(D) Fmance Secretary 

Vl® LDC:s:rr~rrQ'lQ.J U6m' LOC:s:rr~rr ~Qrg)J (!:Ptq-~ G6tUQJ~ 1LJrrrr? 

(A) J£1~ ..&!Q'>LD66J'r 

(B) ~~ir a;L.61~ p>Q)Q)Q.Jir 

(C) 6UIT,!J)rTlLI.$fr 

(D) J£1~ Ge:lLJQ)ITQTfr 

169. Who presides over the joint sitting of the parliament? 

(A) Speaker (B) Deputy Speaker 

(C) Chairman of Rajya Sabha (D) President 

(A) e:u rT,(DITlLJB;ir 

(C) IJ'IT~lLJ 6'5luuSlm p>Q>QJQ.Jfr 

(B) ~Q>(imf 6UrT1!)1TUJB;J'r 

(D) @)~UJfJ'Brp; ~Q)Q)61.Jir 

170. The number of members in the committee on empowerment of women are 

(A) 20 (B) 25 (C) 30 (D) 35 

(A) 20 (B) 25 (C) 30 (D) 35 
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171. 'Which of the following would be called a Secular State? 

/ 

(A) 

(B) 

(C) 

(D) 

The state which is antireligious 

The state which is irreligious 

The state which declares all the religions as state. religion 

The state which has no religion of its own and all persons shall be equally entitled 

freedom of conscience and right freely to profess, practice and propagate religion 

(A) LD~~~!iJ® Gr~IJ'IT~ p;rr@ 

(B) LD~~~Lm G~1Turu!iJ!D p;IT@ 

(C) GrruQ)IT LD~Qjli.b )DITL~m LD:2iW GT6m ~r616l51~~ )!>IT@ 

(D) GrJb~ LD~~al~ll..11.b .ffilTL...~m LD~l..O GT6m.$ Gs;1Tmro1T~~LEiirr L08;s;Gir ~~~6lJQ91..0. :2irf.Ja;m 

LDme:1TL...5luu~ Gr~~ ~® LD~~~:2ilLjLD t9muciJ!D6lli.b GJ!iJIDJ.$ Qs;rrGirroQiL.O, UIJ'UU6l.ILD ~rT1~LD 

6lJ ~ r6J .$1 tLj Girm )!>IT@ 

172. As per the Human Development Index released by the UNDP on March 14, 2013 India 

· ranks----- position. 

(A) 163rd (C) 139th (D) 133rd 

2013, LD1Trr8: LDIT~i.b 14-~Lb C:~~ UNDP G6lJG!fluSlLuuL...L LD~:2i C:LDi.burrL...@ ®JDliOL.~mu~ @.[fi~hurr -

---- 6lJ~ ~fJ'6l.JrT1roe:uSlru ~mm@? 

(A) 163 (B) 136 (C) 139 (D) 133 

173. The average annual growth rate of Industrial sector during the 10th five year plan was 

(A) 2.44 per cent 

(C) ' 8.90 per cent 
/ 

(A) 2.44 

(C) 8.90 

67 

(B) 4.29 per cent 

(D) 12.10 per cent 

(B) 4.29 

(D) 12.10 
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174. Which of the following are the objectives of higher education in the Eleventh Five Year 
Plan? 

(A) Reduction of Regional imbalances 

(B) Setting up of equal opportunity offices in all universities 

(C) Reduction of disparity in rural and urban health care 

r'' Support to economically weaker section students with special scholarships 

Ai19a;61iarLrud>t6lru GTQ>ru 11-QJ~ mffi~rr~@ /,1L..L~f1)6M ll-UJirs;ru~uSlm C:Jl>rr8is;r&is;mrr®Lb7 

(A) L5!1Jrr,ffi~uJ ewuSlmQ'lU)EiJ>UJ (§ba>!D~)'bru 

(Il) ~ruQ>rr UW.$Q>Q)s;~s;r6Js;Qfl~Lb 6LD QJITuJUL.j c!91~QJQ)s;r&Ja;gim Jfjl~Qj~ru 

(C) JDB">IJ' ill]ITlD ~a;rr~rrl] C:QJtDg!IQ>LOQ>UJ (!5Q'lJDHiru 

(D) fil1Du4 S1....~66l~G~rrQ>a;uSlm ~Q)Lb Gurr@mrr~rrl)' rrtJuSlru p;'°16l.IQ)L)b~ L51rrJ6\SlQT@.$® 
4)'1)1J'6l.16lflp;p;ru 

175. The Aim of the "Rajiv Awas Yojana" [RAY] is to achieve 

(A) better infrastructure in urban areas 

(B) housing to BPL families 

(C) a slum-free country 

(D) employment in rural areas 

"l]rr~6i.J &{QJITW aUJIT66~m" 6£16i!T Cpirr8ia;t.b 

(A) Jli8il]LjJDri.lai6lflru fil!DUUITQT ~"THiTTQ'llDUL.j QJ6tJa;Q)m 6J"JDU@$b~~ru 

(B) QJgiJQ>lD C:a;rrL..1.q-6i!r e;w QJrr~ururr8i~c$® 65L..@ QJ~8)Q)61T 10Jd>u@$b~~ru 

(C) (!5Lq.al6B">W@ruQ)rr~ )I>ITLQ)L ~QJrrd;®~ru 

(D) .$l1]1TlD1...jJDri.laimlru aQJQ")Q)QJITuJUL.j8i6rl61T IOJJDU@~~~~ 

176. What are the components of Human Development Index? 

(A) Long and healthy life, knowledge and decent standard of living 

(B) Healthy life, knowledge and employment 

(C) Healthy life, knowledge and entitlement 

(D) .Knowledge, employment and entitlement 

LD~pjQJfil (!5(6lu5L_~m ~.$8i8i8'l.!PJB;Qr UJITQ'lQJ? 

(A) · ,lli~L. ~C1TrrBi.ilUJU)rrQT QJITW6l.l· &1!616l..l tn!iJ.Q)Jtb urrr&i®~LUJ Q.Jrrwd;Q)s;~ pjflt.D 

(B) 

(C) 
(D) 

GS414 

~G.,.rr8;.$1UJ!Drrm aurrwQj. ~n516l.l LDJDIJ)lt.b CQ.JmQ) QJITuJUL.j 

~G1Jrr.ii;.$1UJ1Drr~ 6llrTW6l..I· ~JDl6l.l LDJDWJt.b ~illmw GugMp;ru 

68 



177. The extent of black money estimated in India in 2006-07 was 

(A) Rs. 6,00,000 crore (BJ Rs. 25,00,000 crore 
(C) Rs. 52,00,000 crore / (D) Rs. 60,00,000 crore 

2006-07 ru @.ffi~UJrr@Slru LD~ut.5@ Ga:uJUJUULL 8:iWJULJU u~~~ro ~QT64 

(A) ®· 6.00,000 aa;rr1q. (B) ®· 25.00.000 aa;rrtq. 
(C) ®· 52,00,000 ae;rr1q. (D) ®· 60,00,000 aa;rr1q. 

178. Consider the following statement : 

Assertion (A) Govt. of India by land reforms decided to take over the lands 
belonging landlords beyond a certain specified limit by the state and 
allot them to landless. 

Reason (R) The supply of land is the most limited and the claimants for its 
possession are extremely numerous. This necessitates just 
distribution of lands. 

Now select your answer according to the codes given below: 

fa( (A) and (R) are true and (R) is correct explanation of (A) 

(B) (A) and (R) are true but (R) is not correct explanation of (A) 

(C) (A) is true but (R) is false 

(D) (A) is false but (R) is true 

ijlmQJ<.191.b 8i'l.!DQ>JD e;QJQflc$a; : 

&fDIJ)J (A) @.ffi~UJ c:&llJ'6i .ffi1Q)6rT~®~~Lb e!PQ)lDIT8':i ~dluul...L .r£1Q) t2....rllQ>LDUJITQTrflLQPGTrQT 
~('9 @>!Dll.JijlLL ~ffi64ffi@) ~~8':ilDIT8':i 2-Glrffi .r£1Q)~Q>~ ~~ QldiUJ8':iUU@~~ 
.ffi1Q)uSlru61>rr @S)QJa:rruSlffi® Qe;rr@ffia; ~rrwrrdl~~-

e;rrir~Lb (R) .ffi1Q)~~m c:&1Glftuy uSle;6tJl.b @>Q>JDQ.lrre;6l.Ji.b, ~~!D® ~rflQ>LD ae;rr@aQJrrrflro 
uSlffi6l.JLD c:&1~<'!iLDrrffi @<.19uu~rr~L.O c:&1~a>~ .r£1UJrrUJLDrr~ QJQ)e;u5lro uri.J£@ 
Ga:u:.iu..iw Ga:UJru uSls;64 L.O ~QJfilUJwrr.$1JD§J · 

@6ll!D!Plm tSlmQJ@Lb Q~rr®Liijlrol®.ffi~ ~ri.Ja;m@Sla>La>UJ Q~rfl64 Ga:tLie;. 

(A) (A) LD!DWJL.0 (R) @r;~@GLD a:rf1 aw~Lb (R) "1'mU§J (A) .$@) a:rllUJrr~ 6Blm.$e;Lb ~@;LO. 

(B) (A) LD!DIJ)Jl.b (R) @ir~@Lb a:rfl atnww (R) "1'QrU§J (A).$@) a:rf1UJrr~ @Slm.$diLOruQ). 

(C) (A) a:rll ~~rrru (R) ~6llWJ 

(D) (A) ~6llg)I ~~rrru (R) a:rf1 

179. In India the 12th Five Year Plan covers the period 

(A) 2007 - 2012 .)Bf 2012 - 2017 

(C) 2011 - 2016 (D) 2013 - 2018 

@,ffi~UJrr@Slm um~QIJ~LITLD ID.ffi~rr~@ ~LL~m a;rrrul.O 

(A) 2007 - 2012 (B) 2012- 2017 

(C) 2011 - 2016 (D) 2013 - 2018 
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180. Expand NSSF 

(A) Nntional Secondary School Facility 
/ 

(B) National Social Security Fund 

(C) New Special Secunt' Fund (D) New Social Special Fund 

NSSF - tB QS'lrflQJrr.$e;U> G6u'..la; . 

(A) C:f1i611U @mLJhlmruu umrol Ql6~ (B) C:,,611U 6~u urr~a;rruy jbl~ 

(C) '-l~IU 6lJDU4 UIT~8irru4 f).~ (D) 4/;)1U 6C!J>l£ hl1DW'-l sf)~ 

181. Who among the following came to India in search of great wealth of knowledge and 
literature in ancient times? 
(A) Chinese (B) Sakas (C) Kushanas (D) Greeks 

&ij.l8.i~LQJrT8.i~Qr U~Q)LUJ 6.ITQ)~~Q) @Ji;~1UrrG6lrt>® filw,!i;p; s;Q}QSl LDtD~LD j)Q).$.ilUJ 8.iQTt9fil1U~Q)p; 

~tq. QJJb11iQJrTB;Qr lUITrT? 

(A) ~r'ra;m (B) 6rrs;r'ra;m (C) ®~rrQTr'ra;m (D) .$lC:1J.$a;r'ra;m 

182. Choose the right answer: 

Which among the followmg banks collaborated with the Department for International 
Development (DFID) U.K for a new affordable housing scheme for low-income households 
in urban areas of India? 

(A) National Housing Bank 

(B) Housing and Urban Development Corporation 

(C) State Bank of India 

(D) Reserve Bank of India 

£wBilTWJLD QJriJ$ls;GlflQ) ~]bp; 6tJriJ£, @ri.J.$1Q)rrp;~ (U.K) JblTL@ LJQTQTITL@ QJQTfr66l.$a;rrQT ~Q)!DlJ..ILQr 

(DFID) sn.L..@ <::6r'r.ffi~ ®.ffi~UJrr"6lru ,!liBirTyjDffiil£61flru SLQrQT ®'1>1DJb~ QJ(!!;QJITIU t5lrfl6lS'IQT(!!;MITQT roL..@ 

QJ6~ ~L..Ltb C:wif>Gs;rr~@mm~? 

(A) C:p;fil1U roL..@ QJs:~ QJffil.$1 

(B) 60@ LD!DWJl.b JbBir}" QJQTrT6fil 8.iW8.iLD 

(C) urr11p; ~C:LL.. QJffi).$1 

{D) @.ffi~IU rfl6rTQJ QJffi).$} 
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183. Consider the following statements and select your answers : 
Assertion (A) : The age of consent bill was a remarkable achievement of Behramji Malabari 

Reason (R) : The bill created an indissoluble bond between social reform and national 
movement. 

(A) (A) and (R) are true, but (R) is not correct explanation of (A) 

)B) (A) and (R) are true, and (R) is correct explanation of (A) 

(C) (A) is true but (R) is not true 

(D) (A) is not true but (R) is true 

£ws;~L 6fl.!Dws;Q)m s;Gl.JEilITl~~ c!FrflUJrrm 6\SlQ"JLUJffil : 

8"n.Wll)J (A) : ~0)LDQRIT GlSlQ!)UU LDC:c!Frr~rr i5lUJl}lD~ LDQ)ITLJrrrflu5lm QP8;$1UJLDIT~ c!FIT~Q'JQTUJIT@)LD . 

s;rrl}"QRITLD (R) : @fr>~ LDC~m~rr c!FQP~rTUJ Sir~®~~~!D®t.D C~filUJ @UJ8;s;~~Ji>®t.D i5lnl8;s; (Y)t.q-UJrr~ 
@Q)QRITLJQ)LJ ~0)6l.lrT8;$1UJ~ . 

(A) (A) LD!Dll)Jt.D (R) @IJ"~@CLD s:rfl (R) (A)-66l!Ds;rrm s:itlUJrrm 66lm8;s;tDroQ> 

(B) (A) LDfbll)Jt.D (R) @IJ"~@CLD 5rfl (R) (A)-66lfbs;rrm c!FITlUJrrm 66lm8;s;t.D 

(C) (A) s:ifl ~mrrro (R) ~Gl.lll)J 

(D) (A) ~6tlgll ~mrrru (R) s:rTl 

184. Consider the following statements : 

Assertion (A) : After the completion of the third five year plan holiday was given. 

Reason (R) : The third five year plan was affected by India-China war and 
India-Pakistan war. 

Decide which one is true? 

(A) Both (A) and (R) are false 

(B) (A) is false and (R) is true 

(C) (A) is true and (R) is false 

(D) Both (A) and (R) are true 

£ws;~L Q11T8;.$1UJri.Js;Q)61T s;Gl.JQfl : 

6fl.lDgll (A) : ey>mJ!)rrt.D mfr>~rr~@ ~LLLD JBIQ)JDC6t1WJDLIULL i5lJD@i ~LL 6lSl@Qj>Q"JJ!)8; s;rrbt>t.D 
i5lmu,ti>J!)UULL~ . 

s;rrl}"QRITLD (R) : ey>mJDrrt.D mfr>~rr~@ ~L..Lt.D @fr>fhlUJrr- mm Currrflmrr@)Jt.D. @fr>~UJrr-urr.slQ()~rrm 

Currrflmrr~t.D urr~B;s;uul..L~ . 

@6tlfbWJm GT~ s:rrl 6Tm ~irLDrrEilITl? 

(A) (A) LDlDglltb (R) ~QIJ!)ITQT~ 

(B) (A) ~QJll)J LDWgllLD (R) s:itl 

(C) (A) s:rfl LDW!PJLD (R) ~Gl.lgll 

(D) (A) LDlDIDJLD (R) s:ITlUJrTQTQ)QI 
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185. Consider the following statements : 

Assertion (A) : Rabindranath Tagore surrendered his knighthood in 1919. 

Reason (R) : His act was against the Jallianwala Bagh massacre (1919) and imposition of 

- <Af 
(B) 

(C) 
(D) 

martial law in Punjab. 

Both (A) and (R) nrc true and (R) explains (A) 
Both (A) and (R) are true, but (R) docs not explain (A) 

Only (A) is true 
Only (R) is true 

£wa;~n-- &i.ti>!!J6>a>m s;ru~Pi~ urflUJrrar ~mLUJ61fl : 

&!i>g)J (A) • : @1JGl]b~1JfblT~ ~ITBfl.IT 1919-~t.b ~~© GlrflL..1q-~rrrflu.iHFl)'~mL,!b~rrfr 

B;ITIJ~TL.b (R) : U~6rrGIQ> 811TrulUJQr QJITQ)ITUIT.$ ~UJI] ~6iw661 1919-Q> fbLfi>~§J LOfDl!lltD lit~~ 

6t..bufr>~LOrr6llT 'JLOIT!i>!Dri.J.$~LO ~piJD@) 8>1TIJ'El5GTLOITc$ ~6'>LOJb~~ · 

(A) @IJ~@Li> (A) LDJD~Li> (R) q;lfl ~blfrrw (R)-Qi 6lSlm8>a;t.b .g:rflUJrrQT~ (A)-8>@) 

(B) . @IJ'~@Li> (A) LDJD!PfLD (R) s:lfl ~QTrrQ> (R) Ga;rr@Bi®t..b 6lSlmB;a;t..b q;iflUJruru (A) .$@> 

(C) (A) LOL@Li> s:lfl 
(D) (R) LOL...@t.b .g:ifl 

186. National Food Security Bill was passed in the year 
(A) 2011 (B) 2012 (C) 2013 (D) 2014 

0)2:)6ltu fL~Ql urr~a;rru4 LD08'rr)2:)rr ~6'>JDC:ruJb!J)uuL..L ~~@ 

(A) 2011 (B) 2012 (C) 2013 (D) 2014 

187. Which of the following acts specifically aims at curbing untouchability and atrocities against 
SCs and STs? 
I. The Protection of Civil Rights Act, 1955 
II. The Scheduled Castes and Schedule Tribal (Prevention of Atrocities Act, 1989) 
III. Human Rights Act, 1993 
IV. Protection of Child Rights Act, 2005 

(A) I, II and III are true (B) I and III are true 
(C) IV only true (D1 I and II only true 

£wa;GiurL 6LU6.Ja;mlru 61'~ ®nSluurra; roroo.61/ror~.i.q. Glrfl6lS16lT(!98>® roT~l)'ITQT Ga;rr@6'>l0c$6'>61Tll.jt..b 
~QurLITQ>LOuS)Q>6llTll.jt..b ~@UUQ>~ 0,(lilT8i8iLOITc$ Qa;rr~@Qr6rr§J. 

I. 6J6b1Q) fLrfla>LO UIT~c$1TULJ 8'LLt..b, 1955 

II. "1'W.61 LDJbl!llt..b ~Q\J. 1ir ( QJQiQs;rr@6'>LO ~@uLJ6 6L..Lt.b. 1989) 
III. L06i!f1~ fLrrl6'>L08>Qr 8'LLLD, 1993 

IV. ®WJbQ)~Qr fLrrl6'>L08>~ urr~a;rru48: B'LLW, 2005 

(A) I, II LDJDl.!)ILD III {'.Y)QiWLi> .g:fil 

(C) IV LDL@Li> 8'rft 
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(B) I LDrOl.!)ltD III lDL@t.b .g:rfl 

(D) I LOJDl.!)ILD II LOL.@Li> .g:fil 



188. Which of the following is a wrong match regarding the regional political parties and the 
· states? 

(A) Janata Dal Secular - Karnataka 

) C) Shiv Sena - Gujarat 

(B) Rashtriya Janata Dal - Bihar 

(D) Shiromani Akali Dal - Punjab 

t.Sl1w.[>~UJ ~IJ"filUJru c$l..6ls;m LDfD!PJLD LDrr.ffilruri.Js;m Q~rru'rurrs; t.Sl6irr6l..JQ96tl6l!T6tllD!PJGi"r ~6tl!!Jrr6l!T @Q)~u~ 

GT§)? 

(A) @66l!T~rr ~61)LD L0~6CFrrr'ru!iJ!D§J - c$l'rpirrLa;rr 

(C) §IGiJ C:CF6l!Trr - @j@31J"rT~ 

(B) l)rrffi>l..rrUJ ~6l!Tp;,rr 111rut.b - t5lc$rrr'r 

(D) filGl)rrLD~ ~c$rr"51 ~rut.b - u<§CFrru 

189. Which is/are not correct relating to the bases for the foreign policy of a country? 

1. Geography 

2. National Security 

3. Individual Liberty 

4. Economic Interests 

(A) 1and2 only (B) 2 only 

Jef 3 only (D) 3 and 4 only 

1. Id> Ga; rrGTTt.b 

2. c:~MUJu urr§Jc$rru~ 

3. ~61IT)LO~~ 8T~Jf>~IJ"W 

4. Gurr®GTTrr~rrlJ JD6U6irrc$bir 

(A) 1 LD!D!PJt.b 2 LDL@t.b (B) 2 LOL@LD 

(C) 3 LOL.@t.b ' (D) 3 l.OlD!J)JLD 4 LDL@t.b 

190. The first visit abroad of President Pranab Mukherjee in 2013 was to 

(A) Nepal (B) Srilanka 

;o( Bangladesh (D) Pakistan 

(A) GJDUrTGTTt.b 

(C) ur&.lc$GTTrrC:~a:L.O 

73 

(B) ~Q)ffilc$1T 

(D) U rr $1ffi>~IT6irr 
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]f)l. When was the ngr · ment hPlw en India and Banglodesh was signed to extradite crimmnls 

and terronst.s? 

(A) 2011 (B} 2012 )c( 2013 (I>) 201 t 

<§!i>n>rurrcilB>mmllji.O. ~GlS111rurrj;le;mGTrllji.O ~uumu(§tb ~uu,{!Jp;i.O @jt~UJrr€lil!D®Li>. urfue;wrrCp;6l!i><§Li> 

.@m1...GUJ GTuQurr@~ m.sQUJrruuuSlL.uuL.L~? 

(A) 2011 (B) 2012 (C) 2013 (D) 201'1 

192. The moon recently discovered on 16th July 201'1 is 

(A) Uranus 18th moon 

~,)G) Neptunes l·tth moon 

(A) lLJC11m6lm 13Ltll ~Q)~ 

(C) GJbulc\-lLl60flm 14 .... Jblru~ 

193. Who wrote "Das Capital"? 

(A) O' Spengler .,. 
(C) Lewis Wallace 

" p;rrw Ga;tSlLru" Gr~!D y~p;.s~mp; Gr@~UJrurr UJrrrr? 

(A) Vl ffil Q LI rfu Q) fr 

(C) ~uSJ ffil QJ ITQ)Qu 

(B) Saturn's I 21h moon 

(D) Mercury's 211d moon 

(B) a:ml8;£l11a;~~~ 12 .. " JblQ)~ 

(D) Gt0rr®rflu5lm 2..., Jblru~ 

(B) Karl Marx 

(D) Barack Obama 

(B) .g;rrrrro t0rrir8>Q\.> 

(D) u1J8; ~urn.err 

194. Who was appointed as the brand ambassador of the Border Security Force (BSF) in 2013? 

(A) Sunil Gavaskar 

(C) Dravid 

(A) Bimlro .$6>..lrrwa;rr 

(C) ~11rr6l51L.. 
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(B) Tendulkar 

(.D) Virat Kohli 

(B) Qu1i:GT@roa;r'r 

(D) 6l5111rr~ Ca;rrrol 



195. Match the following : 

(a) The Tribal theory 1. England 

(b) The Feudal theory 2. Voting is not a natural right 

(c) The Bourgeois theory 3. Slaves and Women had no voting right 

(d) The Legal theory 4. Dominant position of elites 

(a) (b) (c) (d) 

(A) 4 1 2 3 

)13) 3 1 4 2 

(C) 2 1 4 3 

(D) 4 2 3 1 

t5l~QJ(!9UQT6Uci>mJD Qurr®~~a;: 

(a) u Wrfil@itq.uSlQTrr Gc!bm.: ... urr@ 1. @ri.J$1Qlrrfr>§J 

(b) J£1rut5l1Jl . .j~~6U Gc!brrl...urr@ 2. QJrrc!i;s;mlLiu§l ~UJ!Dms; umLDUJruru 

(c) b:J>r'r6i!f6U rr c!i;s;ru Ga;rrl...u rr@ 3. ~tq.mLDs;15.$@jl.O Qu~s;~.S®i.0 6).m B;s; Glfl.S®i.0 12....filmLO 

@rumQl 

(d) a:l...Lc!i; C:s;rrl...urr© 4. ~UJr'rfr>C:~rrr'r ®WITLD C:LOQlrr~8;a; J£16W)Ql_ 

(a) (b) (c) (d) 

(A) 4 1 2 3 

(B) 3 1 4 2 

(C) 2 1 4 3 

(D) 4 2 3 1 

196. The person who first favoured partyless democratic system in India. 

(A) M.N. Roy 

(B) B.R.Ambed.kar 

(C) Mahatma Gandhi 

(D) Jawaharlal Nehru 

"~1J61UJru s;l...§ls;ffi'lrolrurorr alQT)DITUJc$ &mJDmLD" GT~JD a;®~~@mQJ &~rolru ~@L.bt5lUJrur'r 

(A) M.N. IJ"ITtU 

(B) B.R. ~L.OC:u~.g;rr 

(C) L.Oc$1T~LDIT s;rrfr>~ 

(D) ~QJ~rrQ)rrru Gp;® 
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Hl7. \Vho\Hl •lcctcd ns C'h1ef.M1m terofNorth pro\'inccofSriltrnka Ill tlH• Yem ~OJ~? 

(A) \I \\CS \\ arnn 

(.B},... \ 1gneS\\ a ran 

(C) Devananclnn 

(D) Padmanaba 

2013- ti> ~aio'r@ ~ruri.Js;rr66lm QJL.5® i5l17rr,!i>~UJj;/)6GT QP~ruroL068°17rra; ~ri' · Gpi@.$&uuL..LflHT UJrrrr? 

(A) ~~(:QJQl)rulJm 

(B) QS1B;~Ql)ru17~ 

(C) <:p;rurrJb,d;p;rr 

(D) u~w~nurr 

198. Consider the following statements : 

Assertion (A) 

Reason (R) 

Pressure Groups involved in Politics and Policy making procesR in 
India through direct and indirect means. 

They aspire to come to power to achieve theu· goals. 

Now select your answer according to the codes given below: 

(A) Both (A) and (R) are individually true and (R) is the correct explanation of (A) 

(B) Both (A) and (R) are individually true but (R) is not the correct explanation of (A) 

(C) (A) is true but (R) is false 

(D) (A} is false but (R) is true 

<:!911JfillUru LDWWJtD Gc$1TQrQ>s; fL@QJITc$c$Q) u~uSlru &!Qg~fbiJ; @)QgMGlr 

C:,ffirflQ>L-UJrrs; LD!i>WJtb lDQ>.(D(!JlB;LDrT6.i r:r@u@.$1.!D~· . 

B;ITIJEm"tD (R) <:!9fQJrTB;GTT~ .@ru8;®.g;Q>QT c:!}!Q>L6lJfblD6•1T6i ~Qg~.5 ®@Mm <:!91~6>1TIJ~/)Ji>@) QJIJ 

6l5l ®ti> y £ID rrr'r s;Q-r . 

.@GiJd>gvm LS1mru@ii> G15rr@>Lit.Slrol@Jh~ u...riilc$m GiSl6l'>LQ>lLIP, Qp;rfl6l.J Geu'..Js; : 

(A) (A) LD!D!Df t.0 (R) .@17aio'r@t.O eifl. C:tn~tb (R) GTmu~ (A) GiSl!D® eif11UrrQT 6l5lm6;a;t.0 

(B) (A) LDJD!Df tD (R) .@r;filior@C:LD eITl. aw~t.O (R) GTmu~ (A) GiSl!D® erflLUITQT 66lroc!i;c$LOQ)Q) 

(C). (A) erfl ~mrrru (R) p;ru!J)l 

(D) (A) lfi6l.J!J)l ~mrrru (R) erfl 
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199. Match the following: 

(a) Rafael Nadal 1. Serbia 
(b) Novak Djokovic 2. Belarus 
(c) Andy Murray 3. Spain 
(d) Victoria Azarenka 4. Britain 

(a) (b) (c) (d) 
(A) 1 2 4 3 
(B) 2 3 1 4 

_JG) 3 1 4 2 
(D) 3 1 2 4 

£~B>~TL6l..lrD~!D Qurr®~~B> : 

(a) IJ"auru Jf>Lrrru 1. Q5[n~hurr 

(b) a)Drr6l..18; ~a236rra..i;rr@S)8; 2. Qururrl)Giu 

(c) ~~iq.QPrral) 3. Git>Quu5l~ 

(d) @Sla;aLrrifllLirr <:!!)JeuQIJ"~8irr 4. t.SliflLL~ 

(a) (b) (c) (d) 
(A) 1 2 4 3 
(B) 2 3 1 4 
(C) 3 1 . 4 2 
(D) 3 1 2 4 

200. Whi~h one of the following is correctly matched? 

(A) Amartya Sen 

(B) Mother Teresa 

/ (C) Hargobind Khorana 

(D) Rabindranath Tagore 

(A) <:!!)ltnrr~lLirr Q5~ 

(B) LD~r'r G~l]"GlUrr 

(C) ~rra~rrt.Sl~~ GlB>rrlJrr~rr 

(D) @1J'5/bfb1JJf>rr~ ~rrBfl.rr 

Received Nobel Prize in 1999 

Received Nobel Peace Prize in 1980 

Received Nobel Prize in 1968 

Received Nobel Prize in 1911 

19996i.J aJf>rTUro urfl,g; Qu !Drvrrrr 

1980ru <:!!)l~LD~.SB>rr~ G,IDrruro u illa; Gu!Drvrrrr 

1968ru GJf>rruro uilla; Gu!Drvrrr'r 

1911ru G,IDrruru uilla; Quwrvrrrr 
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